PRESS BRAKE
MP1500CNC

NS: 2024-113/142

M. |
E D . . I E

000 ®®

; 7
e ‘ cooums
o ge e |

INSTRUCTIONS BOOK

PRADA NARGESA, S.L
Ctra. de Garrigas a Sant Miquel s/n - 17476 Palau de Santa Eulalia (Girona) SPAIN
Tel. +34 972568085 - nargesa@nargesa.com - www.nargesa.com




NARGESA CLIENTS

Prada Nargesa has more tan 8.000 customers around the world. Some of our clients, those who offer
service to third parties with the Nargesa machinery in their workshops, have been pleased to be part
of this network that aims to connect them with posible future clients. In this way, all those people or
companies that have a need for any part or tool that can be manufactured by using the Nargesa
range of machinery, will be able to find a solution in their area to be able to satisfy their production

requirements by hiring their services.

Groenlandia

We have more than 8.500 customers in 150 different countries around the world

Discover its location on the interactive map on our website!

DO YOU WANT TO PARTICIPATE?

Send an email to nargesa@nargesa.com, include the following information and we will add you to this list.

We want to encourage all those who haven’t participated yet in this great comercial network!

1. Company name
2. CIF/Tax Code
3. City

4. Country

5. Machine or machines



PRADA NARGESA

Prada Nargesa S.L. is a family business fonuded in 1970 located near Barcelona, Spain, with more
tan 50 years of experience in the sector of manufacturing of industrial machinery, and more tan

10.000m? of facilities. Nargesa is a symbol of quality, reliability, warranty and innovation.

Our whole range of machines and accessories is manufactured entirely in Nargesa. We have a constant

stock of 400 machines, and we have more tan 16.800 machines sold all over the world.

OUR RANGE OF MACHINERY

[ronworker Machines
Ring Roller Bender and Pipe Bender
Non-mandrel Tube and Pipe Bender
Twisting / Scroll Bending Machines
Horizontal Press Brakes
End Wrought Iron Machines
Gas Forges
Iron Embossing Machines
Hydraulic Shear Machines
Hydraulic Press Brakes
Presses for Locks
Broaching Machines

Power Hammers



CERTIFICATES

Prada Nargesa has several certifications that backup both, the design and manufacturing processes,
as well as the journey through exporting our products around the world and the quality of the
manufacturing components we use for our machines. These facts turn into real advantages for our

customers:

CONCESSION AUTHORIZED EXPORTER
OF AUTHORIZED

EXPORTER e Faster customs procedures
AUTHORIZATION

ESEAOR23000312 ¢ Reduction of tariff documentation

e Tariff preferences according to geographical location

INNOVATIVE SME

( 8
@ ¢ Development in innovation, design and manufacturing

technologies
PYME INNOVADORA

Valido hasta el 31 de mayo de 2026

e Certification and aduit of efficiency in product and

service

¢ Ability to foresee customer needs

R+D+ MANAGEMENT
AENOR

R&D&I e Manufacturing based on the R+D+l process
MANAGEMENT

UNE 166002 e Technological surveillance system




SUCCESS STORIES

At Prada Nargesa we believe that the testimony of our clients is our best guarantee, and that is why
we like to expose some of the success stories that we have witnessed around the world:

Discover its location on the interactive map on our website!

DO YOU WANT TO PARTICIPATE?

Send an email to nargesa@nargesa.com including the following information and we will add you to our
website

Company name
Testimonial name
Post in the Company
Country
Descriptive text

Photography with the machine



INDEX

1. CHARACTERISTICS OF THE MACHINE ... ... 4
1.1. General dIMENSIONS ........ceeiiiiiiiiei e e e e e e e e e e e e e e e e e e e ennes 4

1.2. Description of the Maching ... 4

1.3. Identification of the Maching ... 5

1.4, General fEatures .......o.oiii e e 6

R T oot T = o) 1= PP 6

1.5.1. Description Of @CCESSONIES .....uuuiiiiiiieieeeiieeeeeeee e 6

1.5.2. TOONNG et 7

1.6. Description of safety deViCes ... 8

2. TRANSPORTATION AND STORAGE ..........coooiiiiiiieiiee et 9
D22 T I = 1 =] o Yo = 11T o PP 9

2.2. Storage CONAItIONS ......ooiiiiiit e e e e e e e e e st ereeeaaa e s 9

3. MANINTENANCGE ...t e e et e e s et e e e e e st bee e e e enbeeaeeeanteeeeeeneeas 10
3.1. General MaiNtENaANCE .......c.euiiiiiiiiie ettt e e e et e e e s e e e e e neeas 10

4. INSTALLMENT AND START UP ...ttt e e et e e e st e e e s snaeee e 13
4.1. Location of the MachiNg ..........oooiiiiiiiiiie e 13

VA o4 {1 T T 1 C= PPN 13

4.3. Admissible outer CONAItIONS ........cooiiiiiiiiii e 13

4.4. Connection t0 POWET SUPPIY ....viniiiiiii e e e e e 14

5. ADJUSTMENT OF THE BACK GAUGE HANDLES .............ccoiiiiiiee e 15
B. WARNING S ... e e e 17

ANNEX 1. SOFTWARE ESA S630
ANNEX 2. TECHNICAL FEATURES



PRESS BRAKE MP1500CNC

1. CHARACTERISTICS OF THE MACHINE

1.1. General dimensions

. R, v
& 0© (N NARGESA §

Ooooooogpooo i OOoooooooooo
ju|nu/u]x] 000 ju]: 0000000

: i ir

e =’ 5)

—
2210

q
Ife]

1880 \ 2110

1.2. Description of the machine

The MP1500CNC press brake, is designed specifically for folding sheet in different degrees, any
application other than specified above, exonerates the manufacturer from any responsibility for the damage
to the machine or the people who use it.

The MP1500CNC is according to the European standards and directives for the manufacturing of
industrial Machinery.




1.3. Identification of the machine

Control panel

au N NARGESA
Y Y
el ls

o

Punch-holder ol ofjo ofjo o | — Laser

L—

g
Punch —f+—"T1—"| [

Die //

\

Lateral protection

Sliding arms

Electric motor

Hydraulic container —|

Back gauge handles

] -

S0
Screws to level

the machine

Supporting arms to allow
the metal sheet throug




PRESS BRAKE MP1500CNC

C JE——.T

PRADA NARGESA, S.L. - CTRA. DE GARRIGAS A SANT MIQUEL S/N
17476 PALAU DE STA. EULALIA (GIRONA) SPAIN - TEL.(+34) 8972568085

TRADEMARK NARGESA MODEL MP1500CNC

YEAR OF MANUFACTURE SERIAL N°

DIMENSIONS 2110x1880x2210 mm.  WEIGHT 4900 Kg.
POWER 5,5 Kw. INTENSITY 22/11 A,  VOLTAGE V. Hz50/60

1.4. General features

Motor 5,5 Kw a 1460 r.p.m.

12,8 Aa 400V
Intensity

22,1Aa230V
Hydraulic pump 220 kg/cm? (22 MPa)
Pump 12 1/m
Deposit 60 litres
Double acting pistons 40 Tm
Cleavage 200 mm
Inner folding lenght 1250 mm
Total folding lenght 1500 mm
Total displacement of top 600 mm
Maximum punch displacement 200 mm
Opening without intermission 380 mm
Opening with intermissions 280 mm
Total weight 4900 Kg

1.5. Accessories
1.5.1. Description of accessories

The punch and die are treated, ensuring reliability and endurance under normal use. Arrays have different

openings for different thicknesses of sheet metal and bendind radi.




1.5.2. Tooling

The press brake MP1500CNC, has been designed for the use with “V” dies, punch and die holder.

Other dies with upper V’s seccioned punches and press brake anvils can be also used. Please ask the
manufacturer.

Punch

Die

Die holder ———

E=mm 42.48kgimm®

V| H|Ri

26]0.7] 4 I

Ws.0fo.o ¥ 6. [ ]

s BA[E

o517

www.nargesa.com

1041 2.7

18 4.2

27 |6.7
29)7.5
32 8.5

1 45 1.7 59 Er

1l 52 13.5] m 52 g m__
160

Y ES |17

1] 71 [18.5]

78] 20

J91]24

J110] 29

L114130] 35

PRADA NARGESA S.L. - SPAIN - Tel. +0034 972568085 + nargesa@nargesa.com




PRESS BRAKE MP1500CNC

1.6. Description of safety devices
Fixed safety devices consisting of CNC press brake MP1500CNC are the side shields to prevent
manipulation of tooling on the sides and guards at the rear of the machine covering the belts and pulleys of

the rear gauge.

Left top side
protection

Right top side
protection

Right side protection

Left side protection

Rear protection

You can not remove the protective caps unless it is for maintenance and it should be carried out by
technically trained personnel. PRADA NARGESA will not responsible for damage caused by not adhering

to the afore mention instructions.




2. TRANSPORTATION AND STORAGE

2.1. Transportation

Lifting should be performed by a crane, on the marking point to that end anchorage. The machine will never
rise by anywhere else other than the specified and provided the two points of the front of the machine will
be used because the weight is found mostly in the front so we will make the machine remain in a horizontal
line when raised.

Lifting points to be
raised by a crane

Lifting points to be
raised by a crane

\® = e o

2.2. Storage conditions

Press brake will not be never stored in a place where the following conditions are not settled:

* Humidity between 30% and 95% non-condensing.

* Temperature -25 to 55 ° C or 75 ° C for periods not exceeding 24 hours (remember that these
temperatures are in storage)

* It is advisable not to stack heavy objects on the machines.

* Do not disassemble for storage.




PRESS BRAKE MP1500CNC

3. MAINTENANCE

3.1. General maintenance

At the top of the tank there is the level sightglass. In the absence of olil, fill up to the mark of the peephole.
- Every 1000 hours of use, check the oil level in the tank.

- Replace oil every 4,000 hours of work.

Oil Type: SIL POWER HV-46

Filling cap

Oil level sight glass

Emptying cap

WARNING

Stop the machine in order to carry out the maintenance of the machine. In case of replacement of the oil,
start the engine and depress the flashing time increasing the pressure gradually until the circuit is
complete.

- 10 -



|:> Grease all guide accessories every 6 months. As a whole 2

Sectionned view of the machine

m—

===l | ubricate all sheet holders greasers. As a whole 2

Front view of the machine

- 11 -



PRESS BRAKE MP1500CNC

=== | ubricate all gauge greasers. As a whole 10

mmmmm | ubricate all racks on axis X and Axis R. As a whole 4

Back view of gauge

Front view of Gauge

- 12 -



4. INSTALLMENT AND START UP

4.1 Location of the machine

It is advisable to locate the machine properly to avoid having to move it; otherwise it would be required to
follow the guidelines outlined in the transport section (# 2). It should be placed on a flat, level surface to

prevent vibration and movement during folding operations. It is possible to level the machine by screws at
the base of the machine one at each corner.

Q| e S o) .
B
o o

=]

A= =B b S

4.2 Working site

When the machine is placed it must be taken into account its size, the workspace of the operator and the
possible lengths of the workpiece.

The machine can be used by a single operator, which must be placed frontally to the machine, never in a

side area since he should control the whole machine and also the main protections are designed for the front
use of it.

e = i

i B

=g

| INUINARGESAY

L el [T

4.3 Admissible outer conditions

Ambient temperature between +5 ° C and +50 ° C without exceeding an average temperature of +45 ° C 24h
Humidity between 30% and 90% non-condensing.

- 13 -



PRESS BRAKE MP1500CNC

4.4. Connection to power supply

IMPORTANT: This machine must be connected to a 400V outlet with a neutral earthing contact as
well.

The MP1500CNC, is equipped with a three-phase motor 230V / 400V star connected 5,5 Kw for connection
to a 400V power supply. It must be connected to a single power supply with the power source indicated.

If the line voltage isn’t as indicated: the frequency inverter of the motor of the hydraulic set IS NOT
MULTI-TENSION so if we have to change the voltage, the inverter must be replaced depending on the
supply tension.

Moreover, at the same time, the connection of the coils in the hydraulic set motor will be changed as
indicated below:

X Y Z

Star shape

(preset)

For tension 400V
R W &

L1| L2| L3|

Triangle shape
For tension 230V

The limit stop activation will be accrued out by a servomotor which does not need any change of tension
from 400V to 230V or the other way around.

Setting of the inverter will only be modified as indicated in the following pictures:

||”7

@ T5 S5 R5 NC T4 S4 R4 @
O O Configuration
400V
®®®®®®®®6
NEEERRER
d NSNS NEINY D
B
i 11
O O Configuration
230V

m

- 14 -



5. ADJUSTMENT OF THE BACK GAUGE HANDLES

When it becomes necessary to change the press brake gauge needles position, it will be done by an
activation bar provided for such operation and from the machine front side.

It is completely forbidden to carry out this operation without the activation bar.

Activation bar

In order to proceed with the movement of the needles, we insert the activation bar in the existing slot there
in the needles support.

Activation bar slot

- 15 -



PRESS BRAKE MP1500CNC

We raise the lever, releasing the needle support and we can move the needle toa new desired position.
We lower the lever and the needle will remain fixed in the new position.

We take the lever off and we have the gauge ready to be used again.

WARNING: Make sure we have removed the lever before starting up the press brake again.

- 16 -



6. WARNINGS

Do not manipulate components of the machine while it’s running.

Do not use the machine for any other purposes but the ones described in this manual

Use gloves for handling machine components during the folding process .

Wear safety googles and protective boots approved by the EC.

Hold the material at the ends, never by the part of the fold .

Do not work without the protections fitted to the machine.

Maintain a safe distance between the machine and the operator during the time the machine is running.
Do not use any other tooling but the ones supplied by NARGESA.

The dies that may be coupled to the machine must always be set and fixed.

In case of accident by negligence of the operator, for not following the safety and operating standards set
out in the manual, NARGESA SL will not accept any responsibility.

Bear in mind the obligation for all operators working with the machine to wear goggles, gloves and safety
shoes.

Description of the marks on the machine. It's marked on the front with the following hazard symbols.

- 17 -



Annex 1
Software ESA S630




SUMMARY

I o (= 5
1. MACHINE SETUP .o e et aaenas 10
1.1, RaM referencCe ... 10

1.2. Back-gauges axes reference ..........oooiiiiiiiii 10

2. PUNCHES AND DIES SETUP ...ttt 11
2.1. Punches and dies list ... 11
21.1. Howto enteranew punCh .........cooiiiiiiiiiiii e 14

2.1.2. Punches 10 draw ... ..o 15

2.1.3. Pre-set pPUNCNRES ... 19

2.2. HowtoenteraNew di€ .......coeiuiiiiiiiiii s 20

2.2.1. DIES 10 AraW ...ouiiiiii i 21

2.2.2. Pre-Set di€S ..o 26

3. PROGRAMMING ...t e e 27
3.1, List Of Programs .......o.iiiii i 27

3.2. Entering @ NUMEIIC PrOgram .....ooviiiii it et ree e e ene e 30

3.3. Entering a graphic program (Optional in the S630 model) ............cccocevinent. 33

3.4. Automatic calculation of the bending sequence (Oprional in the S630 model) ... 41

3.5. Manual calculation of the bending sequence .................ccoooiiiiiiiiiiinnnnn. 44

3.6. HOW to bend @ DOX ..o.vneeiii 46

BT WOrK data ... 46

3.8. Execution of a program in automatic mode ...............cc.ooi 46

3.9. Selection of the DIN formula to calculate the stretch ...t 50



Explanation of the symbols

There may be graphic symbols alongside the text. These are used to highlight particularly relevant

information.

Attention: This symbol is used when failure to observe the appropriate precautions
could cause slight damage to property or injury to persons

Danger: This symbol is used when failure to observe the appropriate precautions or
the performing of incorrect manoeuvres could cause serious damage to property or injury
to persons.

Important: This symbol is used in the document to indicate the presence of
particularly important information. It means that it is essential to read and fully understand
this section of the document.

Options: This symbol is used to indicate sections of the document that describe
functions or components that can be optional. The use of optional functions must be
agreed upon with the machine manufacturer and are not for free.

Manufacturer: This symbol is used to indicate sections of the document reserved for
the machine manufacturer.

Passwords: This symbol is used to indicate sections of the document that describe
functions with access controlled by software access passwords.

AN H A D> B

- A5 -



PRESS BRAKE - SOFTWARE ESA S630

Printing conventions
To facilitate the identification of the information in this document, use is made of special printing
conventions as illustrated below.

Video

The following conventions are used:

- The names of the screen-printed button are highlighted in bold print and enclosed in square brackets.
- [OKk]. Identifies the button bearing the word Ok.

- References to the fields and/or messages on the video are displayed in bold print italics.

- The specific text that has to be entered by the user is underscored.

Text

The following agreements are used:

- ltalics are used to highlight specialist terms.

- Bold print is used to highlight particularly important words.

- A6 -



Glossary

CNC

The abbreviation of Computerised Numerical Control which indicates the apparatus governing the machine,
that is, the electronic device via which the work cycles are programmed, the axes are moved, etc...

It corresponds to one of the devices, the operation of which is described in this manual.

SSD
Solid State Disk, also known as Flash Hard Disk, is a data saving device without any components in

movement, therefore particularly suited to industrial environments.

Menu selection

To select the contextual menu of the page you must press %o one time. Pressing %g two times this
selection list will appear:
0>> Editor

1>> Axis Parameters
2>> Configuration

3>> Diagnose

4>> User Parameters
5>> Shut Down

6>> Cancel

7>> Version

8>> Logo

9>> Monitor Memory

Save to or Load from the

M » : .
end N internal disk

Previous Settings

P
» Next
o

Manual

Save on the USB external memory Semiautomatic

cIcRoRoE

*

T f Delete Automatic
EEO Program list Stop
= n Punches and diez list Start

Wz Corrections Sub menu

Buttons for manual handling
operations

+
[

- A7 -



PRESS BRAKE - SOFTWARE ESA S630

Touch environment

The new interface of the NC Kvara S630 Touch born with a new interactive graphics on which every
function is achieved at the touch of your finger. This not only because Prada Nargesa aligns well to the
features most current PC environment but also want to speed up and facilitate the work of its end user.

Soft Keyboard

Whenever you have to set some data in the input fields, just type on the screen to edit the data directly with
your finger and immediately you will see the Soft Keyboard as shown in the Figure a).

The Soft Keyboard is a virtual keyboard and interactive that has all the functionality of a PC keyboard but
with the advantage that being in touch environment, allows the user to have the keyboard directly on the
screen so without losing the visual changes and / or entries made to their work, thus speeding up all the
useful operations.

Name=1

1

Name of the selected prog and ly in tion. Wirite the name of the program and
press enter if you want load a program without going on Program List.

Figure a) Soft Keyboard Numbers

The key means Delete
The key means Confirm - ENTER

When you confirm an inserted data, the Soft Keyboard closes

- A8 -



- Pressing "abc" will appear in the literary characters to nominate programs, tools or to set data:

[Upper Death Point. y =
Pressbrake ram opening at the end of the bend related to the pinch pomt.

-

Figure b) Soft Keyboard the literary characters

- A9 -



PRESS BRAKE - SOFTWARE ESA S630

1. MACHINE SETUP
Operations to execute after powering
ﬁ It is obligatory reference the ram in order to access the automatic phase and execute a work

program.

The reference of the back-gauges axes is also mandatory. It is done automatically. This is done to avoid
doubts about the correctness of the current back-gauges axes targets because they could not be correct if

an axis was moved manually when the numeric control was off.

1.1. Ram reference

Comply with the following procedure to reference the ram:

- Press V

- Press d)

- If the ram is up, press the down pedal to move it down below the zero mark. Otherwise, if the ram is
already down, it will start the re-ascent automatically (skip the next step).

- While the down pedal is pressed, when the ram downs below the zero mark it stops. Then, release the
down pedal. This operation will activate the ram re-ascent automatically.

The ram will move upwards until it meets the zero mark of the optic linear scale where reference takes
place. It will now be possible to execute a program in automatic mode.

To repeat the reference procedure without turning off the NC:

- Press [Repeat Reference].

- Follow the steps descrived above..

1.2. Back-gauges axes reference

To reference the back-gauge it is necessary to follow the steps below:

- Press V

- Press d)

The back-gauges axes move towards the reference limit switch. Once the limit switch has been touched,
they will reverse their direction and, after having released the limit switch, they will reference to the first
zero mark of the encoder.

- A10 -



2. PUNCHES AND DIES SETUP

2.1. Punches and dies list

Comply with the following procedure to access the tools list:
- Press igiu ; to display the list of punches or list of dies.

- If the list of dies appears, press again Eiu to display the punches, or vice versa.

The following window will appear in the case of punches:

Sie .
Punch List P —
16:49 [t 0
= ::\). P_ 9 €
(97 =0 35\ Lyme Z (il _—
Currently selected punch
P
Select: D.116.88.R08
, P
DK.116.90 R08 1Kb :'9'}"
ngle R
E PS.1 R 1K
x89.8PS.135.85R08 b Fedlie .
P.114.88 R06 1Kb Load
P.115.60 R08 1Kb
P.116.35R08 1Kb —
P.116.35R15 1Kb
P 116,88 R0 Kb I
P.120.35R08 1Kb
P.12035R3 1Kb R
Fies : 83 | 1K8 | CACN_LINK\CNCAD \Kvfie\Prz\ |_

Figure 1 Punches list

The window on the left is the punch list window.

The central boxes show the data related to the selected punch (highlighted by the cursor).
The window on the right gives a preview of the punch to which the cursor has set.

The following window will appear in the case of dies:

s Die List Vorsamiron
15:05 P _ 0
> S — w0
% (- SO E7 - €
| /) ot bP 20 = Jj aglt < {3l _—
C:ACN_LINK\CNC\D \kvfile\mat Currently selected die:
Name pim | _
T80.12.35 1Kb Select: T80.12.90
1601225 TKb Vdie1 120 900° ]
T80.12.80 1Kb SR Q0
T80.12.85 1Kb : _
T80.12.88 1Kb
T80.16.30 1Kb H
80000
T80.16.35 1Kb :
T80.16.45 1Kb |
T80.16.60 1Kb
T80.16.80 1Kb R
Fies: 214 | 1K8 | C:ACN_LINKACNCAD \Kvfie\Mat\ |_

Figure 2 Dies list
The window on the left is the die list window.

The central boxes give the data of the die to which the cursor has set (in the list).
The window on the right gives a preview of the die to which the cursor has set.

- All -



PRESS BRAKE - SOFTWARE ESA S630

When the available tools are many for a fast choice can be used the scroll bar .

The function buttons have the following meanings:

- [New Folder] to create a new folder where save the tools

- [Find] to find a tool from the punch or from the die list

- [New Drawing] to completely draw the punch or the die

- [New Type 1] to use a type 1 pre-set punch or [New default] to draw a pre-set die

- [New Type 2] to use a type 2 pre-set punch

- [New Type 3] to use a type 3 pre-set punch

- [New Type 4] to use a type 4 pre-set punch (round punch)

- [Insert] to insert the punch or the die selected in the work program or in the selected bend

How to display the preview

Allows you to display the tool preview (to make it easier to identify). The preview function is normally
enabled, but can be

disabled if not required. Comply with the procedure below:

- Press the ¥g button to access the menu

- Select the 4>> Preview item

- The preview item is disabled.

Repeat the operation to re-enable the item again.

How to copy a punch or die

This allows you to create a copy of a tool with another name so that it can then be modified. Select the tool
you wish to copy with a finger and then comply with the procedure below:

- Press the &g button to access the menu

- Select the [Copy] item

- This accesses a window where the tool name must be entered.

After the name has been entered, select the [Ok] button.

How to rename a punch or die

Allows you to change the name of a tool. Select the tool you wish to rename with a finger and comply with
the procedure below:

- press the %g button to access the menu

- select the 1>> Rename item

- this accesses a window where the new tool name must be entered

After the name has been entered, select the [Ok] button.

- A12 -



How to erase a punch or die

Allows you to eliminate a tool. Select the tool you wish to eliminate, selecting it with a finger, and comply
with the procedure below:

- Press the i‘f button

- Press [OK]

- The selected tool will be erased.

Save all tools on USB

Allows you to save all the tools on USB so that they can then be transferred to another numeric control
(useful when must be created backup copies). Comply with the procedure below:

- Insert into the USB port a USB device formatted with enough space to hold the tools.

- Press the 1(g button to access the menu

- Select the 2>> Save Tools

- All the tools (dies and punches) will be saved on USB.

Erase all tools

Used to erase all the tools. Comply with the procedure below:
- Press the 1g button to access the menu

- Select the 3>> Delete Tools item.

All the tools will be Deleted selecting the [Yes] button.

Tools list on USB device

Used to display the list of tools USB device. The possible operations are the same as the tool list, then you
can copy, rename, and delete all tools present on the USB device. Select the list punches and dies and
perform the following steps:

- Insert into the USB port a device containing tools (created by kvara S630 Touch)

- Press the $2 button.

- The list of punches or dies on USB will be displayed

- Proceed with the required operation.

How to save all tools from USB to NC

Allows you to save the tools from an USB external memory to the internal NC disk, so that they can be
downloaded from another numeric control. Comply with the following procedure:

- Insert into the USB port a device containing tools

- Press the $2 button

- List with punches and dies of the USB device is displayed

- Press the &g button to access the menu

- Select the [Save Tools] menu.

All the tools (dies and punches) will be saved from the USB external memory to the internal NC disk.

- A13 -



PRESS BRAKE - SOFTWARE ESA S630

2.1.1 How to enter a new punch

Comply with the following procedure to enter a new punch:

- Press the button 575 ; the list of punches or list of dies will appear
- If you see the dies list press again the £7; button.

Select the desired type of punch. The punch can either be completely drawn or three types of pre-set
punches with fixed measurements can be used. These measurements are varied in order to rescale and re

-design the punch.

The following types of pre-set punch are available:

Type 1 Type 2 Type 3 Type 4

Figure 3 Types of pre-set punch

It is advisable to use pre-set punches if the punch to be entered is similar to one of the proposed types
(taken from the catalogues), since the drawing will be less difficult.
The punch must be completely drawn if it is not within the pre-set punch categories.

Note

Remember that the punch drawing is used to make anti-collision checks for the graphically designed work
pieces, while the bending depth calculation is developed according to the punch dimension data. If there
are difficulties in completely drawing a punch, the problem can be obviated by using a type of pre-set
punch and attempting to adapt it to the real shape as much as possible by means of the pre-defined data.

- Al4 -



- Press

- [New Drawing] to completely design the punch;

- [New Type 1] to use a pre-set punch type 1;

- [New Type 2] to use a pre-set punch type 2;

- [New Type 3] to use a pre-set punch type 3.

- [New Type 4] to use a type 4 pre-set punch (round punch).

A window will be opened requesting entry of the punch dimensions:

Total

Workin height

height

Figure 4 Punch dimensions

Enter the total height and working height as indicated in the figure.

Access to the drawing page

Access the drawing page once the punch dimensions have been entered and the type of punch selected.

The drawing page changes, depending on the type of punch selected:
- Select the [Ok] button.

2.1.2 Punches to draw

The punches to draw page is obtained by means of the drawing function (see relative chapter of this

manual).

Punch Set. e

16:57 st E

EYCOODHmPap < ()

........................ | [0:000
i : — | alfa[T00

g DX 0.000
s~ py [10:000

§ ‘ : O
80000 1 : ‘k%” Ang[ 300
5 f | s [om
60000 R ,W
Loa{0.000

i : : (v‘ h [o000

[ New [ sep1 [ scaeta |
Punch tip Close

et craing \New Typo Ly New T2, \NOWTEO.3, \NOWIVEOA, LS s

Figure 5 Punch drawing page

- A15 -

81



PRESS BRAKE - SOFTWARE ESA S630

The left-hand window is the drawing window.

The four right-hand windows are drawing data entry windows and respectively represent:
- The polar drawing data

- The Cartesian drawing data

- The vertex drawing data

- The arc drawing data

Drawing conventions
The punch must be drawn in an anticlockwise direction, remembering that the back-gauges are on the right
-hand side of the punch itself.

Drawing
direction

Figure 6 Punch drawing direction

Vertex entry

The tip must be defined in order to use the punch drawing. When the drawing is started, the marked line
represents one of the two sides of the tip. Proceed in the following way to define the tip:

- Enter the length “Ip” , touching with a finger on the field;

- Press [OK];

- Enter the tip angle (ang. angle) , touching with a finger on the field;

- Press [OK];

- Enter the tip chamfer if the tip is flat, touching with a finger on the field (S data item, normally is 0)
- Press [OK];

- Enter the tip radius (R data item), touching with a finger on the field;

- Press [OK];

- Enter the punch load (maximum tons for meter) , touching with a finger on the field;

- Press [OK].

The tip will be drawn and the next length will be automatically drawn with a default length of 20 mm.

- A16 -



How to do the drawing
Supposing that the following punch must be drawn:
The cursor is in Field 1 of the data entry window of the drawn tip data:

- Enter the tip data as previously described

- Enter the length of the second side of the tip (section I1)

- Press [ENTER]: the cursor will set to the alpha Field where the angle is entered in relation to the next
section

- Press on the display to move to the design, using own touch (touch environment)

- Press [ENTERY]: the next section will be drawn in automatic mode. The section to which the data refer will
be marked, the cursor will move to Field 1 where the length of the section is entered

- Press [Arc]

- Enter the length corresponding to section 12 in Field 1

- Enter the depth corresponding to section p1 in Field h

- Press [ENTER]

- Enter the length corresponding to section 13 in Field 1

- Press [ENTERY]: the cursor will move to the alpha Field where the angle is entered in relation to the next
section

- Enter value 90.0 in the alpha field

- Press [ENTER]: the next section will be drawn in automatic mode. The section to which the data refer will
be marked, the cursor will move to Field 1 where the section length can be entered. The punch drawing will
form by continuing to alternatively enter the lengths and angles. The more the entered measurements and
angles correspond to reality, the more the drawing will be correct. Figure 7 Example of a punch to be
drawn.

>

Figure 7) Example of punch drow

- Al17 -



PRESS BRAKE - SOFTWARE ESA S630

Graphic helps

In relation to sections whose measurements may cause difficulties, the operator can use graphic helps
allowing the angle value to be varied by + 1° and the length to be varied by £ 1mm each time. This
achieves a visual correspondence between the drawing and the real punch. To enable this feature, only
valid for settings punches:

- Press the g button to access the menu

- Select the 3>> DYNAMIC

The angle value is increased by 1° by pressing the right arrow and is diminished by one degree at a time by
pressing the left arrow. The length value is increased by pressing the up arrow and decreased by pressing
the down arrow.

Drawing curved sections

As shown in the example, the drawing function can be used to draw curved sections. Press the [Arc] key
and the cursor will move to the arc data entry window.

Enter length “I2 and depth “h” of the arc and the curve corresponding to the entered data will be
automatically plotted.

Entered data correction

Incorrect entries may be made during drawing entry.

Is it possible correct these entries moving amongst the various drawn with the ﬁ and » buttons and
by modifying the values of the fields.

- Use the ﬁ button to switch to the immediately previous entry field and then alternatively pass to a

nln

length entry field “I’ and an angle entry field “alpha”.

-The » button immediately passes to the next length and, thus, always to the length entry Field “I”
- Press [ENTER] to pass to the immediately following entry Field and to then alternatively pass to a section

entry Field (I) and an angle entry Field (alpha).

Error correction

A very frequent error (particularly if the arrows are used to enter the angles) is that of forgetting to press
[ENTER] after having entered an angle. At this point, the length of the section will be entered in the
angle entry field, thus creating an error in the drawing.

Use the key ﬁ to move back to the angle entry Field and re-enter the correct value.

Saving the drawing
At the end of the drawing, press the g/ button to save it in the internal memory. Enter the name of the

punch in the window that appears, touching with a finger on the field.

After the name has been entered, select the [Ok] button.

- A18 -



Tolerated name characters
The entered name can be formed by a combination of numbers and letters (e.g. can be used the code of
the punch of the catalogue).

2.1.3. Pre-set punches
The pre-set punch page is presented in the form of a pre-drawn punch along with a series of data that
characterize the shape of that punch.

NRRREEA
1506 Punch Set. = o
> b= = ¥
BYCOCODOE Mmpadp -
‘ i A | 45.0) P
: H1 45.000
Lt 26.000 T
La 20.000
N [3000— P
Hi 30.000
Le [7000
HC [35.000 |
Blunt. [0.000
Radius [W I
Load [0.000

[ New [ sept | scaetn |

o, New,drawing New Type, NewType2, NewType3, NewType 4,

5

Figure 8) Preset punch

When the data are scrolled with the arrows or [ENTER] key, a red indication will appear on the drawing as
to which measurement corresponds to the selected data item.

By modifying any one of the values and pressing [ENTER], the drawing will be re-plotted by taking the
modified value into account.

Saving the drawing

At the end of the drawing, press the *_E, button to save it in the internal memory. Enter the name of the
punch in the window that appears, touching with a finger on the field.

After the name has been entered, select the [Ok] button.

Tolerated name characters
The entered name can be formed by a combination of numbers and letters (e.g. can be used the code of
the punch of the catalogue).

- A19 -



PRESS BRAKE - SOFTWARE ESA S630

2.2 How to enter a new die

Comply with the following procedure to enter a new die:

- Press the 57; button; the list of punches or list of dies will appear.

- If the list of punches appears, press =7 button again.

- Select the required type of die. The die can be completely drawn or the pre-set die with fixed dimensions

can be used. These measurements can be varied in order to rescale and redrawn the die:

60,000
.

,,,,,,

Figure 9 Available types of pre-set die

It is advisable to use pre-set dies if the die to be entered is similar to one of the proposed types (both
square and overturned T dies can be drawn), since the drawing will be less difficult.
The die must be completely drawn if it is not within the pre-set die categories, if is a die with several V-die,

if is a square V-die or a dutch folding die.

Note

Remember that the die drawing is used to make anti-collision checks for the graphically designed work
pieces, while the bending depth calculation is developed according to the die dimension data. If there are
difficulties in completely drawing a die, the problem can be obviated by using a type of pre-set die and

attempting to adapt it to the real shape as much as possible by means of the pre-defined data:

- A20 -



Press:

- [New drawing] to completely design the die;

- [New default] to use the data of the pre-set die.

A window will be opened requesting entry of the die dimensions:

: Die width

Die
height

Figure 10 Die dimensions

Enter the die width and the die height as indicated in Figure 10 selecting with a finger the fields “width” and
“hight”.

Access to the drawing page

Access at the drawing page once the die dimensions have been entered and the type of die selected. The
drawing page changes, depending on the type of die selected:

Select the [Ok] button.

2.2.1 Dies to draw
The dies to draw page is obtained by means of the drawing function (see relative chapter in the operator
manual).

Die Set.

17:03

LEYCODI @ © [

/I
Sl alfa] 0.0

/3 DX [200000°

60.000 | (sx;~ DY |0.000

AAAAAAAAAAAAAAAAAAAAAAAAAAAAA R
— Fepes K- ara[ 00
X« | [omoony

r [ow00—
Loaw

h |0.000
I 0.000
r 0.000
L

[

| [ New [ stpi [ scaet1 |
Close Die

SITNINNIIL

i
i
E
:
:
F
|

Figure 11 Die drawing page

- A21 -



PRESS BRAKE - SOFTWARE ESA S630

The left-hand window is the drawing window.

The four right-hand windows are drawing data entry windows and respectively represent:
1) The polar drawing data;

2) The Cartesian drawing data;

3) The V-die drawing data;

4) The square die drawing data.

Drawing conventions

The die must be drawn in a clockwise direction, remembering that the back-gauges are on the right-hand

side of the die.

Drawing direction

~

-/

Figure 12 Die drawing direction

The marked line represents the line initially proposed in the drawing page.

How to do the drawing
Supposing that the following die must be drawn:

I IC1 12

aC1

IC2

Figure 13 Example of a die to be drawn

- A22 -



The cursor is in Field 1 of the polar drawing data entry window:

- Enter the length corresponding to the length I1 in the field “I”, touching with a finger on the field;
- Press [OK]: the cursor will set to the a Field where the angle is entered in relation to the next section. Now

define the first V-die of the die.

V-die entry

Comply with the following procedure:

- Press [Insert V-die]; the data entry window will automatically switch to the V-die data where it is
necessary to:

- Enter the V-die angle (angle aC1), touching with a finger on the field;

- Press [OK];

- Enter the width “I” of the V-die (IC1 length), touching with a finger on the field ;
- Press [OK];

- Enter radius R of the V-die, touching with a finger on the field;

- Press [OK];

- Enter the V-die load (maximum tons for meter), touching with a finger on the field;

- Press [OK]; the V-die will be drawn and the next length automatically entered. The cursor will return to the
polar data entry window;

- Enter the length corresponding to section 12 in field “I”, touching with a finger on the field;

- Press [OK];

- Enter the value of angle a1, touching with a finger on the field;

- Press [OK]; the next length will be drawn in automatic mode. The length to which the data refer will be
marked, the cursor will move to the field “I’;

- Enter the length corresponding to the length I3 in the field “I”, touching with a finger on the field;

- Press [OK]; the cursor will move to the a field where the angle is entered in relation to the next lenght.

The second V-die must now be defined:

- Press [Insert V-die]; the data entry window will automatically switch to the V-die data where it is
necessary to:

- Enter the V-die angle (angle aC2), touching with a finger on the field;

- Press [OK];

- Enter length “I” of the V-die (section IC2), touching with a finger on the field;
- Press [OK];

- Enter the V-die radius R, touching with a finger on the field;

- Press [OK];

- Enter the V-die load (maximum tons for meter), touching with a finger on the field;

- Press [OK]; the V-die will be drawn and the next length automatically entered. The cursor will return to the
polar data entry window;

- Enter the length corresponding to the length 14 in the field “I”, touching with a finger on the field;

- A23 -



PRESS BRAKE - SOFTWARE ESA S630

- Press [OK];

- Enter the value of the angle a2, touching with a finger on the field;

- Press [OK].

The die drawing will form by continuing to alternatively enter the lengths and angles. More the entered

measurements and angles correspond to reality, more the drawing will be correct.

Entered data correction

Incorrect entries may be made during drawing entry.

Is it possible correct these entries moving amongst the various drawn with the ﬁ and » buttons and
by modifying the values of the fields.

- Use the ﬁ button to switch to the immediately previous entry field and then alternatively pass to a

length entry field “I" and an angle entry field “alpha”.

-The » button immediately passes to the next length and, thus, always to the length entry Field

Square V-die entry

The die drawing page can be used to enter square V-die. To enter one of these, execute the following
operations when on angle entry Field a of the length prior to the V-die:

- Press [Square V-die].

This accesses the square V-die data entry window.
- Enter the depth “h” of the V-die, touching with a finger on the field;

- Press [OK];

- Enter the width “I” of the V-die, touching with a finger on the field;
- Press [OK];

- Enter radius “r” of the V-die, touching with a finger on the field;

- Press [OK];

- Enter the V-die “load” (maximum tons for meter) , touching with a finger on the field;
- Press [OK]; the square V-die will be drawn with the entered data. The cursor will return to the polar data
description window in order to describe the next die length.

Square V-die conventions
If a square V-die has been entered, the minimum bend angle that can be made is the angle corresponding
to a V-die of the entered width and depth.

- A24 -



Dutch folding V-die entry (hemming V-die)

The die drawing page can be used to enter Dutch folding V-die. To define one of these, it is necessary to
indicate which are the lengths that determine the die closing by their movement and then draw a length
squashed on both sides.

- Draw the profile of the open die with the recess of the flattening part;

- Move the selection to the line to be defined like Dutch folding (vertical length);

- Press [Flang.].

- The line defined as the flattening part will appear hatched on the drawing.

The following figure shows an example of the bending Dutch folding die.

Die Set. e

Uy CODImean
[

T alfal] 0.0
e /p Dx [16.996

: % Dy [55:002
b i 't alfa|NO0I
: e 1 [0:000

H r 0.000
|35§ 000 Loa{[0.000

h [o000
[ T
r [o000
Loa{0:000

f

[ S135PN.2610 [ stepts | scaet1 |
Close Die

5

Figure 14 Drawing of the Dutch folding die

How to enter Dutch folding pneumatic die

The die drawing page can be used to enter Dutch folding pneumatics dies.

To define one, two flattening 0.001 mm length lines must be indicated on both sides of the die.

- Draw the profile of the open die with the recess of the flattening part, but enter 0.001 mm for the flattening
lines (as though the die were closed);

- Move the selection to the line to be defined like Dutch folding (vertical length);

- Press [Flang.];

- The line defined as the flattening part will appear hatched in the drawing;

- Once the die has been drawn, press [Die dimensions] and digitize 1 in the “Pneumatic (1=yes 0=no)”
field;

- Select the [Ok] button;

- From this moment onwards, function 2 will be automatically enabled on the Dutch Folding bends.

When the bend is flattened with a pneumatic die, the die will open and will then drop in the fast mode with
the ram: the tools could touch each other during the ram fast down phase (something to be avoided). For
this reason the ram must change speed first (at a higher target). To do this is needed to change the “mute-

point” of the bend

- A25 -



PRESS BRAKE - SOFTWARE ESA S630

Entry of the pneumatic flattening die support

If the press has a pneumatic flattening die support, the relative data can be entered in the General
Parameters Configuration page (refer to the machine parameters manual). Once the data have been
entered, flattened bends can also be obtained in the graphic mode using standard dies without having to
draw particular dies with bending-flattening functions.

Saving the drawing

At the end of the drawing, press the ?/ button to save it in the internal memory.
Enter the name of the die in the window that appears.

After the name has been entered, select the [Ok] button.

Tolerated name characters
The entered name can be formed by a combination of numbers and letters (e.g. can be used the code of
the die of the catalogue).

2.2.2. Pre-set dies
The pre-set die page is presented in the form of a pre-drawn die along with a series of data that
characterize the shape of that die.

i
AT Die Set. T— .
S = ¥
A WO ODE Mm@ © () —
60.000
---------------------------------------- .
------- A | 0.0
Le 8.000 S
Ls 9.000
H Li 21.000
eolooo Hi [13500
) Li1 21.000
Hi1 13.500 I
Radius | 0.000
P
Load  [1000.000
| [ New | stp1 [ Scaetn |
Die

Figure 15 Pre-set die

By modifying any one of the values and pressing [Ok], the drawing will be re-plotted by taking the modified
value into account.

Saving the drawing

At the end of the drawing, press the ?/ button to save it in the internal memory.
Enter the name of the die in the window that appears, touching with a finger on the field.
After the name has been entered, select the [Ok] button.

- A26 -



3. PROGRAMMING

3.1. List of programs

To enter the list of programs it is necessary to follow the steps below:
- Press )

- The following window will appear:

i Sroey
= Program List T

B Y SO0, <

C:ACN_LINK\CNC\D kvfile\prg\ Selected prog.: Nargesa0

e

)

Name Dim
artur prova 1 1Kb Select: Nargesa0
Prog. Status Graphic
Nr.of Bend.
Nr.of Sect.
Width
Thickness
Resistance
Material
Die 460 R
V-die
Punch P.135.85 R08
Develop
Comment

[T

Fies: 2 | 1K8 | CACN_LINK\CNC\D\Kvfie\Pigh ]

Figure 16 List of programs

The window on the left is the program list.
The central boxes contain the program data on which the cursor is positioned (on the list).
The window on the right shows a preview of the program on which the cursor is found.

To scroll down the programs available on the list just use the scroll bar.
The function keys displayed have the following meanings:

- [New Folder] to create a new folder where save the programs.

- [Find] to find a program in the list window.

- [New Numerical] to set a new numeric program.

- [New Graphic] to set a new graphic program.

- [Save Version] to save the programs in a previous version.

How to view the Preview
This allows you to see the preview of the program (if the program is graphic). The preview is normally
enabled but if desired you can also disable it by following the steps below:

- Press the %@ button to open the menu.

- Select the item 4>> Preview.

- The preview window will be disabled.

- To re-enable it just repeat the steps above.

- A27 -



PRESS BRAKE - SOFTWARE ESA S630

How to copy a program

This allows you to create a copy of a program with another name so that you can change it. Move onto the
program you wish to copy selecting it with a finger and follow the steps below:

- Press the g button to open the menu.

- Select the item 0>> Copy.

- A window will open in which it will be necessary to enter the name of the program, touching with a finger
on the field.

- After entering the name, move onto the [OKk] button.

Renaming a program

This allows you to change the name of a program. Move onto the program you wish to rename selecting it
with a finger and follow the steps below:

- Press the g button to open the menu.

- Select the item 1>> Rename.

- A window will open in which it will be necessary to enter the new name of the program.

- After having entered the name move onto the [Ok] button.

Saving a program

This allows you to save a program on the USB device in order to then transfer it to another control (also
useful for creating backup copies). Move onto the program you wish to save selecting it with a finger and
follow the steps below:

- Press the $2 button.

- The program selected will be saved on the USB device.

Deleting a program

This allows you to delete a program. Move onto the program you wish to delete selecting it with a finger
and follow the steps below:

- Press the t‘f button.

- Press the [Yes] button.

- The selected program will be deleted.

Saving all the programs on the USB device

This allows you to save the programs on the USB device in order to then transfer them to another control
(this also allows you to create backup copies). Follow the steps below:

Insert a fat32 USB formatted device with enough space for containing the programs into the USB port:

- Press the &g button to open the menu.

- Select the item 2>> Save programs.

- All the programs will be saved on the USB device.

- A28 -



Deleting all the programs

This allows you to delete all the programs. Follow the steps below:
- Press the ¥g button to open the menu.

- Select the item 3>> Delete programs.

- All the programs will be deleted (you will be asked the confirm).

Programs list on the USB device

This allows you to view the program list on the USB device. The possible operations are the same as for
the tool list therefore it is possible to copy, rename and delete all the tools present on the USB device.
Select the program list and follow the steps below:

Insert the USB device containing the programs into the USB port.

- Press the $2 button.

- The programs list on the USB device will be displayed.

- Execute the desired operation.

Saving a program from a USB device to NC

This allows you to save a program on NC from a USB device in order to be able to download it from
another control. Select the program you wish to save with a finger and follow the steps below:

- Press the ?; button;

- The program selected will be saved from the USB device to NC.

Saving all the programs from a USB device to NC

This allows you to save the programs on NC from a USB device in order to be able to download them from
another control. Follow the steps below:

- Insert a USB device containing the programs into the USB port.

- Press the 9 button. The programs list on the USB device will be displayed

- Press the g button to open the menu.

- Select the item 2>> Save programs.

- All the programs will be saved from the USB device to NC.

- A29 -



PRESS BRAKE - SOFTWARE ESA S630

Changing the work unit

This operation can be performed in the following sequence:
- Press the :_O button to open the Program list

- Press the 1g button to open the menu

- Press 5 >> Change work drive.

- Select with a finger a work drive from the list

i N

% Program List — .
N r\ == | ] 3
ﬂ%dg- ==ji|"' =4 © 1 |
Selected prog.. NargesaQ
Name —
artur prova 1 E[c] e
: P
. Cancel |
T
P
G Y

| Comment [ J —
o

Fies: 2 I 1K8 I CACN_LINK\CNCAD\Kvfie\Prgh

Figure 17 View of the operation for changing the work unit.

3.2. Entering a numeric program

To enter a new numeric program press [New Programm] from the Editor page of a numerical program and
select [New numerical]:

New Programm

& New numerical | Confirm .
€ New graphic }—Gﬂnﬁﬁl—l

Figure 18 New numerical program

Or it can be create from the program list pressing EE_O and [New numerical].

- A30 -



Setting the piece data
A window will open for entering the program data:

BY OO0, AU L

[ Piece informations | [ Workinformations |

Pes. done 0 0 0 Toc [0 )|

Todo Force o ]

Measures Crown. C] -

Develop Final Retract  Corrections CST. E]

ﬁ x1 (0 J[o J[o Pinch P. 0

Width Mute 0 _

Thickness Bendtime (0

e o v, (o] | —-—

Station o] Speed o ]

Die null Functions [0 Jo Jo o] —

V-die @ 0 Rep./Direct DD

Punch null Ri 0 _
N st/ umpin; D Change

Figure 19 Page for entering the bends

- Enter the width of the metal sheet to be bent, touching with a finger on the field and selecting [Ok].

- Enter the thickness of the metal sheet to be bent, touching with a finger on the field and selecting [Ok].
- Enter the resistance of the metal sheet to be bent considering that:

To bend ALUMINIUM set values from 0 to 30

To bend IRON set values from 31 to 50

To bend STAINLESS STEEL set values greater than 50

17:25 A 0
@ Resistance=0 b
0

[Nes |

Strength of the material to bend. — I

Set values from 0 to 30 to bend ALUMINIUM.
Pcs.done | |Set values from 31 to 50 to bend IRON.
To do Set values more than 50 to bend STAINLESS STEEL.

Develop.

. | I I R ——
Thickness

ResistMat

Die

Punch

I e ——

5||||||||

Figure 20 help page of the material resistance built-in the Soft Keyboard

- A31 -



PRESS BRAKE - SOFTWARE ESA S630

Sie] L
Die List v
17:28 T

> . — —— ‘

% r\ ( = o = / 9 €
| /) S OEOE/, 1 o 2
C:ACN_LINK\CNC\D'kvfile\math Currently selected die:
Name pim =~ |
TR80.06.88 1Kb Select TR80.10.88

TR80.08.60 1Kb V-die1 100 880°

TR80.08.88 1Kb | 60.000
TR80.10.60 1Kb

i

Files: 214 | 1KB | CACN_LINK\CNCAD KvfileAMaty

|

Figure 21 Die list page, example of die insertion

- The material is calculated automatically depending on the resistance.

- Enter the work station if more than one or if they are defined, otherwise leave 0.

- Enter the die that will be used from the list touching with a finger on the field, scrolling the toolbar in order
to choose the die and pressing the button [Insert] (the die must already have been drawn), like showed in
the figure 21.

- Enter the V-die of the die that will be used for the bend, touching with a finger on the field and
selecting [OKk] (a die can have more than one V-die; in the event of only having one, enter 1). To the right
appears the width of the V-die selected.

- Enter the punch that will be used from the list touching with a finger on the field, scrolling the toolbar in

order to choose the punch and pressing the button [Insert] (the punch must already have been drawn).

Setting the bends

The cursor now moves into the fields for setting the bend.
Set for each bend:

- The desired bend angle in the Y7 Angle field.

- The desired bend length in the Field Final X1 field.

All the other data relating to the bend will be calculated automatically but they can still be changed by the
user.

- A32 -



Work data

This allows you to view the data relating to the absolute T.D.C, Mute and Pinch Point of that bend, move
onto the desired bend and follow the steps below:

- Press the (g button to open the menu.

- Select the item 7>> Work Information.

- A window will appear which contains the work data.

- For exit just move onto the [OK] button.

Copying a bend

To copy a bend, move onto the bend you wish to copy and follow the steps below:
- Press the g button to open the menu.

- Select the item 5>> Copy step; the bend will be copied at the end of the section.

Entering a bend

To enter a bend in a section, move onto the bend after the one you wish to enter and follow the steps
below:

- Press the 1(g button to open the menu.

- Select the item 4>> insert step; the bend will be inserted before the one you moved onto.

Entering a copied bend

To enter an identical bend to the one already present in the section, move onto the bend after the one you
wish to enter and follow the steps below:

- Press the ¥g button to open the menu.

- Select the item 4>> Insert step for insert a new bend before the selected bend.

- With the ﬁ or » buttons move into the bend you wish to copy

- Press the 1g button to open the menu.

- Select the item 5>> Copy step ; the bend will be copied on the one you have just entered.

Defining a radius bend

In the window for entering the data of the numeric program it is possible to activate help for creating a
radius bend:

- Press [Bumping a Radius]; a window will open to enter the data of the radius bend.

- Enter the desired rolling angle in the “Angle” field, touching with a finger on the field and selecting [Ok].
- Enter the rolling radius in the “Radius” field, touching with a finger on the field and selecting [Ok].

- Enter the length of the rolling pitch in the “Length” field, touching with a finger on the field and selecting
[OK].

- Enter the initial position of the stop in the “X posit.” field, touching with a finger on the field and selecting
[OK].

-Select the [Confirm] key, the rolling bends calculated will be automatically entered on the bend Editor

page.

- A33 -



PRESS BRAKE - SOFTWARE ESA S630

Correcting a radius bend

Whenever a radius bend is realized it is unlikely that you will obtain a correct bend at first try: this
imprecision depends on the fact that the angles that have to be bent to create the rolling are opened too far
(e.g.: 170@) and it is difficult to obtain correct bends with these angles.

In order to obtain a correct rolling it is necessary to measure the difference between the angle of the radius
obtained and the desired angle: the difference calculated must be divided equally on all the bends.

Example

Let's suppose we have to create a rolling with an angle of 90° in which is it necessary to make 15 bends
equal to 1709 if the rolling obtained is 112.5° we must perform the following:

112.5 - 90 = 22.5° (difference between the real and the theoretical angles)

22.5/15 = 1.5° (correction to be applied for each bend)

We must apply a correction of 1.5° in the rolling pitch which will be repeated 15 times.

Definition of a Dutch folding (or hemming bend)

In the window for setting the bends it is possible to define a Dutch folding bend:

enter 0.0 in the Y1 angle field, and the arrival value of the ram will be calculated by keeping account of the
depth of the V-die, the height of the V-die for hemming and the thickness of the piece; the position of the
axis X is set at the minimum height reachable by the axis; the R axis is positioned by bearing in mind that
the die is open.

For ensuring greater work programming speed a Dutch folding can be defined by directly entering the Editor
page and pressing the [Dutch Folding] function.

Correcting a Dutch folding

To correct a Dutch folding it is not possible to change the value of the angle, but it is necessary to change
the numeric value present in the Field L.D.C. of Y1.

If the bend is hemmed too much it will be necessary to increase this value.

The Height Y2 will subsequently be changed.

Otherwise it will be necessary to:

- Enter in the Corrections page by pressing (7

- Press the [Coeff. corrections] key

- The data entered in the Dutch folding field will be directly added or subtracted from the L.D.C. of both the
Y. This value is linked to the machine and not to the program. To cancel the correction press the key [Undo

correct.].

- A34 -



E 3.3 Entering a graphic program (Optional in the S630 model)

To enter a new graphic program press [New Programm] from the Editor page of a numerical program and
select [New graphic]:

New Programm

C New numerical | Confirm.|

& New graphic . Cancel

Figure 24 New Graphic program

Or it can be create from the program list pressing EE_O and [New graphic] .

Setting of the general data

A window will open to enter the general data of the program.

If these data are not entered, access will not be permitted to the drawing function:

- Enter the width of the metal sheet to be bent, touching with a finger on the field and selecting [Ok].

- Enter the thickness of the metal sheet to be bent, touching with a finger on the field and selecting [OK].
- Enter the resistance of the material to be bent, touching with a finger on the field and selecting [OK], like
described in the chapter 3.2

- The material is calculated automatically depending of its resistance.

- Enter the work station if more than one or if they are defined, otherwise leave 0

- Enter the die that will be used from the list touching with a finger on the field, scrolling the toolbar in order
to choose the die and pressing the button [Insert] (the die must already have been drawn).

- Enter the V-die of the die that will be used for the bend, touching with a finger on the field and
selecting [OK] (a die can have more than one V-die; in the event of only having one, enter 1).

- Enter the Die Orient. (0 = standard, 1 = rotated by 180°).

- Enter the punch that will be used from the list touching with a finger on the field, scrolling the toolbar in
order to choose the punch and pressing the button [Insert] (the punch must already have been drawn).

- Enter the Punch Orient (0 = standard, 1 = rotated by 180°).

- Enter a Comment if desired.

- Enter the measures parameter desired.

- Select the [OK] button.

- A35 -



PRESS BRAKE - SOFTWARE ESA S630

Drawing window
The drawing window page will be opened.

Piece Set. S—

17:3; e~ 0

EYOCODEmPad <

I
alfa 0.0

/7§ ox o
™ py 0.000

J alfa 0.0
“" R 0.000
3 0.000

- alfa 0.0

—
U

o Drawing Section |1

[ New [ sectonizt T sep1 | scaet |

Move to
Bend Data Generaldata Calolste (000 Add Section Y

Bumping a Dutch
" Radius

L qmm o New

Figure 25 Drawing page of the piece.

The window on the left is the drawing window. The four windows on the right are for entering the drawing
data and they respectively represent:

1) The polar drawing data.

2) The Cartesian drawing data (normally not used).

3) The drawing data of a Radius bends.

4) The drawing data of a Dutch folding bends (hemming).

After having entered the general data and accessed the Piece Set page, the first segment will appear in red
with a length of 20.0 mm. Touching with a finger the field “I” a “Soft Keyboard” will open, as in Figure 26

20.000

20.000
Cr e
LA LS 16
L2 LS
L0 L |BackS)
“ESC_ | Ok |

Figure 26 Soft Keyboard for setting the length of the piece

- With which you can change the length of the first segment by entering a value different from 20.
- After having pressed “OK” automatically you move to the next field, the “alfa” polar drawing data. Pressing
with a finger on this field the angles “Soft Keyboard” appears, like showed in figure 27

- A36 -



0.0

Figure 27 Soft Keyboard for setting the angle of the piece

- By touching one of the height arrows starting from this W% in the clockwise direction, the next
segment will be taken to different predefined angles, that is 45, 90, 135, 180, -135,-90, -45. Pressing the
soft-key WMKEEMM is possible introduce angles different from the predefined, like showed in figure 28

| 0.0|

| 110)

A I e
B G
L2013 Rrrov!
L0 BackS™
[ ESC Ok

Figure 28 Soft Keyboard for setting not predefined angle of the piece

- After have set the angle automatically we go to the polar drawing field of the next length “I’, where
touching with a finger the soft keyboard for setting the length of the piece open, in order to continue the

piece drawing like shown in the figure 29

Piece Set. e —
| /\\ (\ = :j\} b i ¥
® Y o IX=057m ! € [ e
" —
= aa [o0
/g' DX -0.000 _
(™ py  [2om000
EEE—— |
_'J afa [T
“" R [oooor (R
P [oo00
— am Foo I
) —
Drawing Section [T

| [ New [ Secionint |_swp2 | Scaeta ]

l Bumilni a Dutch Move to ﬁ

Figure 29 length setting of the second bend

- A37 -



PRESS BRAKE - SOFTWARE ESA S630

Bend sequencing

This allows you to view the sequence via which the piece must be bent. Follow the steps below:

- From the AUTOMATIC graphic page press the g button to open the menu.
- Select the item 0>> Bending sequence.
- Move among the various bends by pressing the ﬁ and »buttons.

Change color

This allows you to change the color of the background of the piece to bend.

- From the AUTOMATIC graphic page press the g button to open the menu.
- Select the item 7>> Change color.

—= 3D Viewer (Optional in the S630 model)

This allows you to view the drawing in 3D. Follow the steps below:

- From the AUTOMATIC graphic page press the g button to open the menu.
- Select the item 3>> 3D Viewer.

- To return to the 2D view press the € button.

How to realize the drawing of a piece
Let's suppose we have to draw the piece illustrated in the figure below:

70,00

40,00

Figure 30 Example of piece to be drawn (external measures)

The cursor is located in the field “I” of the window for the polar setting of the drawing data:

- Enter in the field “I”, the length corresponding to the first section of the piece to be drawn (20.0).

- Press [OK].

- Enter the value of the first angle (120.0°) in the field “alfa” (value of the angle compared to the following

length).

- Press [OK], the next length will be drawn in automatic mode; the length that the data refer to will be

highlighted.

- Enter the length in the field “I” corresponding to the second length of the piece to be drawn (47.11).

- Press [OK].

- A38 -




- Enter the value of the second angle (-120.0°) in the field “alfa” (value of the angle compared to the
following length).

-Press [OK], the next length will be drawn in automatic mode; the length that the data refer to will be
highlighted.

- Enter the length in the field “I” corresponding to the third length of the piece to be drawn (70.0) .

- Press [OK].

- Enter the value of the third angle (-90.0°) in the Field “alfa” (value of the angle compared to the following
length).

- Press [OK], the next length will be drawn in automatic mode; the length that the data refer to will be
highlighted.

- Enter the length in the field “I” corresponding to the fourth section of the piece to be drawn (40.0).

- Press [OK].

- Enter the value of the fourth angle (90.0°) in Field “alfa” (value of the angle compared to the following
length).

- Press [OK], the next length will be drawn in automatic mode; the length that the data refer to will be
highlighted.

- Enter the length in the field “I” corresponding to the fifth length of the piece to be drawn (30.0).

- Press [OK], the drawing has now been completed.

How to realize a radius bend

In order to realize a radius bend it is necessary to bear in mind that as per the convention, there must be a
length of metal sheet before and after the radius.

Let's suppose we have to draw the piece illustrated in the figure below:

30
r=60 I

20

Figure 31 Example of a radius to be drawn

The cursor is located in the field “I” of the window for the polar setting of the drawing data:

- Enter the length corresponding to the first length of the piece to be drawn (20.0) in the Field “I”.
- Press [OK].

- Press [Bumping a Radius]; the window of the radius data will open.

- Enter the desired rolling angle (90.0°) in the field “alfa”, touching with a finger on the field.

- Press [OK].

- A39 -



PRESS BRAKE - SOFTWARE ESA S630

- Enter the radius of the rolling (60.0) in the field “R”, touching with a finger on the field.

- Press [OK].

- Enter the length of the rolling pitch you want to obtain in the field “P”, touching with a finger on the field.
- Press [OK], the next length will be drawn in automatic mode; the length that the data refer to will be
highlighted.

- Enter the length corresponding to the last length to be drawn (30.0) in the field
on the field.

- Press [OK], the drawing has now been completed.

ulu

, touching with a finger

How to execute a Dutch Folding (hemming)

Let's suppose we have to draw the piece illustrated in the figure 32:

A
ZZI

100

100

v

: L1=30:
4+—>

Figure 32 Example of Dutch Folding bend to be drawn

The cursor is located in the field “I” of the window for the polar setting of the drawing data.

- Enter the length of side L1 to be hemmed (30.0) in the field “I” , touching with a finger on the field.

- Press [OK].

- Press [Dutch Folding].

- Enter the intermediate Dutch folding angle (e.g.: 45.0°) in the “alpha”field, touching with a finger on the
field.

- Press [OK], the next length will be drawn in automatic mode; the length the data refer to will be highlighted.
- Enter the length of the side (100.0) in the field “I”, touching with a finger on the field.

- Press [OK], the cursor will move onto the field “alfa” for setting the angle compared to the following length.
- Enter the value of the angle (-90.0°), touching with a finger on the field.

- Press [OK], Enter the length of the side (100.0) in the field “I”, touching with a finger on the field .

- Press [OK].

- Press [Dutch Folding].

- Enter the intermediate Dutch folding angle (e.g.: 45.0°) in the alpha field, touching with a finger on the field.
- Press [OK], the next length will be drawn in automatic mode; the length the data refer to will be highlighted.
- Enter the length of the last side (22.0) in the field “I”, touching with a finger on the field. The drawing has
now been completed.

- A4O -



Saving the drawing

At the end of the setting, press the - i/ button; a window will open in which it is necessary to enter the
name of the program.

After having entered the name, touching with a finger on the field, move onto the [Ok] button.

TE 3.4 Automatic calculation of the bending sequence (Optional in the S630 model)

It is possible to access the automatic calculation procedure from the drawing page of the piece by following
the steps below:

- From the PIECE SETTING page after have drawing it in all its parts press [Calculate].

Calculation window

A window will open that shows the simulation of the piece to be bent, including the lower and upper part of
the press-brake, the punch, the die, the stops and the piece before to being bent.

On the right side of the page there are three windows that respectively indicate the upsetting and the
number of rotations of the piece relating to the bending sequence found, and the criterion chosen for the
bending sequence search (Criterion).

The numeric control searches for the solution by always trying to leave the greatest part of the metal sheet
in the operator's hands (the icon that will appears will be the following: 3& ); if you change the calculation
“Criterion” selecting [All the solution] it is possible to search for the sequence among all the possible
solutions, even those potentially dangerous for the operator (the icon that will appears will be the

Criterion

following: § ).

Calculation e
st R e

'W CODE P adh ©

Develop.

Upsetting
]
Rotations
B
Criterion
N

New Sect 111 Bend 1 Scale 031

Figure 33 Calculation page of the bending sequence

It is possible to make the calculation of the bending sequence in two modes: automatic or manual.

- AdL -



PRESS BRAKE - SOFTWARE ESA S630

Automatic search for the bend sequence
In the automatic search, the optimal bending sequence is established by the numeric control; by pressing

[Optimize] the numeric control automatically searches for the solution.

Manual search for the bend sequence

In the manual search, the bending sequence is established by the operator who forces the bends.

The bending sequence can be completely or partially forced by the operator: in the case of the sequence
only being partially forced, the remaining bends will be calculated automatically by the numeric control.
The operator has the possibility to move between the various bends by pressing the ﬁ and » buttons.
To force the bends it is necessary to press the [Bend] key in correspondence of the selected bend; if you
press the key in correspondence of a bend that has already been forced, that bend will be straightened.
The operator has the possibility of rotating the piece pressing the [Rotate] key;

Press [Optimize] when you want to force the desired bends.

The numeric control searches for the solution while keeping in mind the sequence forced by the operator.

Results of the optimisation

If the piece is not feasible, the control will warn the operator with a “No Solution” message.

In this case the operator can try to make the calculation using the criterion that carries out the search for all
the solutions.

In the event that there is no possible solution, the operator can try to identify which bend makes it
impossible to bend the piece from the manual search of the bend sequence; any collision of the piece with
the various parts of the machine is notified by a colour change on the side of the piece that enters into
collision.

In order to bend a piece even if it enters into collision (for example in the case in which the collision does
not damage the sheet metal) the operator must force the entire bend sequence.

If the piece is feasible the control advises the operator with a “Solution found” message; the operator can
select the following functions in this window:

- [0 STOP]: the optimisation is stopped in order to make changes.

- [1 Continue]: a different solution to the one just found will be searched; if you continue to refuse
to accept the solutions proposed, the numeric control will search until it comes to the end of the different
solutions, and then it will display the message “No Solution!!”.

- [2 Simulate]: the simulation of the bending of the piece is displayed; the user can continue with
the bending sequence by pressing [1 Continue] or stop the simulations by pressing [0 STOP].

- [3 Confirm]: the values calculated in the solution found will be set in the program.

- A42 -



Simulation

Once the solution has been accepted, it will be possible to simulate the bending sequence obtained in the
optimisation window of the graphic program:

- Press the function key [Simulate], the piece without bends, set up and ready for the first bend will be
displayed.

- Press the function key [Rest/Support], as many times as necessary, to select the first support, the second
support (if available) or the rest of the piece. Obviously the stop will only move into the supported position if
there aren’t collisions and if the limits of the axes permit.

- Press the function key [Continue], the piece will be displayed with the first bend already made.

- Press the function key [Continue], the piece will be displayed with the first bend already made and in
position for the second bend.

- To stop the simulation press the function key [Stop], to return to the previous step in the simulation press
the function key [Previous].

- Press the function key [Continue], until the end of the simulation (the function key [Simulate] will reappear)

Rest/support mode

Once the solution has been accepted, it will be possible realize a support bend in the optimisation window
of the graphic program:

- Press the function key [Simulate], the piece without bends, set up and ready for realize the first bend will
be displayed.

- Press the function key [Rest/support], as many times as necessary, to select the first or second
supporting of the piece (if available), obviously the stop will only move into the supported position if there
aren’t collisions and if the limit heights of the axes permit.

- Press the function key [Continue], the piece will be displayed with the first bend already made.

- Press the function key [Continue], the piece will be displayed with the first bend already made and in
position for the second bend.

- Press the function key [Rest/support] as many times as necessary, to select the first or second supporting
of the piece (if available), obviously the stop will only move into the supported position if there aren’t
collisions and if the limit heights of the axes permit.

- To stop the simulation press the function key [Stop], to return to the previous step in the simulation press
the function key [Previous].

- Press the function key [Continue], until the end of the simulation (the function key [Simulate] will reappear)
- The function is displayed in the numeric program at the top, on the right hand side of the type of bend.
The control automatically calculates the corrections necessary on the X and the R. The function key [Rest/
support], in numeric mode will not work if the program is graphic. To change the rest/support it is
necessary to enter the simulation page.

- A43 -



PRESS BRAKE - SOFTWARE ESA S630

E 3.5 Manual calculation of the bending sequence (Optional in the S630 model)

It is possible access the manual calculation procedure from the drawing page of the piece by following the
steps below:

- Press [Calculate].

Calculation window

A window will open that shows the simulation of the piece to be bent, including the lower and upper part of
the press-brake, the punch, the die, the stops and the piece before to being bent.

On the right side of the page there are three windows that respectively indicate the upsetting and the
number of rotations of the piece relating to the bending sequence found (refer to the figure in the paragraph
on the Automatic calculation of the bend sequence).

Manual searching for the bend sequence

In the manual search the bending sequence is established by the 'operator by forcing the bends.

The operator has the possibility to move between the various bends by pressing the ﬁ and » buttons.
To force the bends it is necessary to press the [Bend] key in correspondence of the selected bend; if you
press the key in correspondence of a bend that has already been forced, that bend will be straightened.
The operator has the possibility of rotating the piece pressing the [Rotate] key;

Press [Optimise] when all the desired bends have been forced.

The numeric control searches for the solution keeping in mind the sequence forced by the operator.

Results of the optimisation

If the piece is not feasible, the control will warn the operator with a “Forced Solution” message.

In the event that there is no possible forced solution the operator can try to identify which is the bend that
makes it impossible to bend the piece from the manual search of the bend sequence; any collision of the
piece with the various parts of the machine is notified by a colour change on the side of the piece that
enters into collision.

In order to bend a piece even if it enters into collision (for example in the case in which the collision does
not damage the sheet metal) the operator must force the entire bend sequence.

If the piece is feasible the control advises the operator with a “Solution Found” message; the operator
can select the following functions in this window:

- [Stop]: the optimisation is stopped in order to make changes.
- [Accept]: the values calculated in the solution found are set in the program.

- Ad4 -



Simulation

In the optimisation window of the graphic program, once the solution has been accepted, it will be possible
so simulate the bending sequence obtained:

- Press the function key [Simulate], the piece without bends will be displayed, set up and ready for realize
the first bend.

- Press the function key [Rest/support], as many times as necessary, to select the first or second
supporting of the piece (if available), obviously the stop will only move into the supported position if there
aren’t collisions and if the limit heights of the axes permit.

- Press the function key [Continue], the piece will be displayed with the first bend already made.

- Press the function key [Continue], the piece will be displayed with the first bend already made and in
position for the second bend.

- To stop the simulation press the function key [Stop], to return to the previous step in the simulation press
the function key [Previous].

- Press the function key [Continue], until the end of the simulation (the function key [Simulate] will reappear)

Rest/support mode

In the optimisation window of the graphic program, once the solution has been accepted, it will be possible
realize a supported bend:

- Press the function key [Simulate], the piece without bends will be displayed, set up and ready to realize
the first bend.

- Press the function key [Rest/support], as many times as necessary, to select the first or second supported
position (if available) or the resting-against position of the piece, obviously the stop will only move into the
supported position if there are collisions and if the limit heights of the axes permit.

- Press the function key [Continue], the piece will be displayed with the first bend already made.

- Press the function key [Continue], the piece will be displayed with the first bend already made and in
position for the second bend.

- Press the function key [Rest/support], as many times as necessary, to select the first or second supported
position (if available) or the resting-against position of the piece, obviously the stop will only move into the
supported position if there are collisions and if the limit heights of the axes permit.

- To stop the simulation press the function key [Stop], to return to the previous step in the simulation press
the function key [Previous].

- Press the function key [Continue], until the end of the simulation (the function key [Simulate] will reappear)
- The function is displayed in the numeric program at the top, on the right hand side of the type of bend.
The control automatically calculates the corrections necessary on the X and the R. The function key [Rest/
support], in numeric mode will not work if the program is graphic. To change the rest/support mode
it is necessary to enter in the simulation page.

- A45 -



PRESS BRAKE - SOFTWARE ESA S630

Changing the bend sequence
Once the bend sequence has been optimised, it will be possible to change the bending sequence obtained:

The operator has the possibility of moving among the various bends by pressing the ﬁ and » buttons.
To remove the bends it is necessary to press the [Bend] key in correspondence of the selected bend,
remove the other bend you wish to exchange, and press [Bend] to select the new sequence desired on

each bend removed.

3.6 How to bend a box
The numeric control does not allow to directly set the development on the flat of a box to be bent.
To be able to bend a box it is necessary to set a program with two bend sections (it doesn't matter if the
program is graphic or numeric) in which to set the bends relating to the horizontal section and the bends
relating to the vertical section respectively.
The two programs will be realized one after the other, thus making it possible to create the box.
A The execution of a program with several sections always starts from the section with the
smallest width of the sheet metal.
How to add or delete a section
To add a section in graphic or numeric, it is necessary to press the function key [Change Section] whereas
to delete a section, move onto the desired section and follow the steps below:
- Press the &g button to open the menu.

- Select the item 6>> Delete section; the section will be deleted and the program will move onto bend 1 of
section 1.

3.7 Work data

It is possible to check the absolute TDC, Mute and Pinch Point of a bend, in the following manner:

- Press the g button to open the menu.

- Select the item 7>> Work informations ; a window will appear containing the absolute TDC, Mute and
Pinch point.

- To exit press [Ok].

3.8 Execution of a program in automatic mode
After setting a numeric program or calculating a graphic program it is possible run it in automatic.
Automatic mode can be enabled by pressing the D button.

- A46 -



Automatic graphic page

If the program currently selected is a calculated graphic program the automatic graphic page can be
viewed by pressing [Graphic]; this page consists of three windows:

The main window contains the drawing of the upper and lower parts of the machine, the drawing of the
punch and the die entered in the program, the drawing of the piece before and after the bend, and the
drawing of the stop.

The second window shows how to orient the piece for each bend (upsetting or rotation of the metal sheet
compared to the previous bend).

The third window contains the data of the bend in progress, the piece counter and the Development of the
metal sheet.

] Automatic | .
: — | 0

EY OO mPap ©

Develop.

126.05

Pcs. done

Figure 34 Automatic graphic page

Automatic numeric page

If the program currently selected is numeric, added to the numeric setting data there will also be the current
quota of the axes; it is not possible to change the program data in automatic mode.

Automatic A
YOODH @ < (1| &b
[ —r T —

=
=
&

E/I

o
[ Plecsinformations
Ps. done @ ] vi[90 14442 [0 889 | .|| Toc L
To do D Force 3.1
Measures E] Crown D _
Develop. Final Retract Corrections Current ESH] E
GereaEa < 2803 [0 Jlo J(10.8e ] _|||/Pinchp. [0 ‘_
Width Mute [
Thickness C] Bendtime 0.1 -
ResistMat [] Match. 0
Station E Speed 0
Die T80.10.90 Functions —
vde (4]0 | RepDirect (11|
Punch P.116.35.R1} Ri 1.667 _

Figure 35 Automatic numeric page

- 47 -



PRESS BRAKE - SOFTWARE ESA S630

- In order to have a better view of the heights of the axes, it is possible to double the size of the characters
of the page.

This page is enabled by pressing Q

- To return to the page with single size characters press Q again.

> Automatic PR—

17:47 Hs— A 0

EYCOO @) £ G
Name Nargesa1 Bend E] Section [] @ =i ﬁ-

[100 ] [-90 | [144.42 | 7333 |
s B —
zz N o ] xi [28.03 | (7422 | } Afg _a
To do D P
*7 7 7 | | Functions Change | 7 7 %-

Figure 36 Double size automatic numeric page

Carrying out the automatic cycle

To start an automatic cycle just press the START (') button; this operation enables the positioning of the
back gauges axes. At the end of the positioning of the back gauges axes press the down pedal to move
down the ram and make the bend.

Once the bend has been made, the ram will automatically return and the positioning of the back gauges
axes relating to the next bend will take place.

Once the last bend of the program has been made, the automatic cycle will start from the first bend.

First bend

This allows you to view the first bend to realize. Select [First Bend]

Execution of the sample piece

The calculations made by the numeric control are purely theoretical and due to the imperfection of the
sheet metal, it may be necessary to make corrections to the values calculated.

To simplify the correcting of the bend data of a piece there is a procedure to perform a sample piece in the
SEMI-AUTOMATIC page.

In SEMIAUTOMATIC, at the end of a bend there is no step change, instead the cycle remains on the
current bend to allow the operator to correct the bend data and then repeat the bend that has been
corrected.

It is possible to make step-by-step corrections to the angle or the length of the bend for all the bends.

The corrections entered are automatically illustrated in the program.

- A4S -



The procedure can also be enabled from the AUTOMATIC page in the following manner:
- Press Q

- Press the (') button to position the back gauges axes.

- Press the down pedal to execute the bend.

- Measure the bend made in terms of bend length and angle.

If the bend is not correct:

-Press [T to access the correction data. If you need to make a correction to all the steps (e.g.: if all the
bends have to be at the same angle it is recommended to correct the program in general mode), enter the
data in the “Piece” column. If you need to correct the data of a section, enter the data in the “Section”
column, of if you want to correct the data relating to a bend, enter the data in the Bend column.

- Enter the correction data.

Corrections —
Name  [Nargesal  |Bend 1 |Secton |1 | —
v NSO o | v raasz |
T
P
xt [0 |0 |0 | —
P
P
ALy M oot KD

Figure 37 Correction page

Setting of the correction data

The correction data to be entered are in mm for the position of the back gauges axes, and in degrees for
the bend angle; the data entered will be added to the value contained in the program.

Exampile: if the bend is closed by 2° it is necessary to enter a positive correction value (+2.0°); if the bend
is open by 2° it is necessary to enter a negative correction value (-2.0°).

If the length of the bend is less than the desired length you must enter a positive value in the Corr. X1 Field
corresponding to the difference detected; if the length of the bend is greater than the desired length you
must enter a negative value in the Corr. X1 Field corresponding to the difference detected.

If several corrections are made to the data of the same bend, the last value entered will be added to the
previous ones.

Example: if a bend is initially closed by 3° and after the correction (+3.0°) it is open by 1°, it will be
necessary to enter 1.0° in the field for correcting the angle.

During the correction of the step, the correction data of the angles are separated per cylinder; it is therefore
possible to correct the angle of Y1 in a different manner to the angle of Y2.

In the general correction the bend angle will be corrected the same way for both cylinders.

If a correction to the pitch is made as well as a correction to the piece during the same step, the values
entered will match.

- Ad9 -



PRESS BRAKE - SOFTWARE ESA S630

Exampile: if a step correction is made equal to -2.0° and a piece correction equal to -1.0°, the angular
correction of that step will be -3.0°.

At the end of the operation for setting of the correction data:

- Press Q

- Press the d) button to reposition the back gauges axes (a correction may have been made to their
position).

- Repeat the bend.

- Check that the bend is correct:

- If correct: Repeat the procedure for all the bends of the program; to move between the various bends
press the ﬁ or » buttons.

- If incorrect: Make new variations to the data corrections of the current bend.

Once the data have been corrected for all the bends:

- Press Q the automatic cycle will start from the bend currently selected.

- There are new methods for setting the corrections which are described below.

Corrections internal radius

It is possible to display the internal radius of the bend on the Editor page. The internal radius is always
calculated, either in graphic or numeric, the calculation method can be selected from the generic
parameters. The change of the internal radius will influence the stretch calculations, but only if the program
is numeric. If the program has been generated in graphic, the change to the internal radius will not
recalculate the stretching.

Consult the machine parameters manual for the various application modes for the internal radius.

3.9. Selection of the DIN formula to calculate the stretch

It is possible to select the standard DIN formula if you need to use it (for calculating the stretch). In order to
select the standard formula, set the generic Stretching Formula parameter to 1. This Field can also be
changed by the operator from the 4>> User Parameters page.

Checking the program

Once the changes have been made, press START Q') to take the axes into position. The check of the
program will be realized automatically and in case any errors are detected, a message will then be sent
which will remain in semiautomatic STOP status.

Self-Teach cycle
There are special situations in which it is not possible to use the bend quota calculated by the numeric
control for carrying out a bend (rounded punches, coining bends, bends outside the V-die, etc...).

In these circumstances it is helpful to use the self-learning cycle of the bend quota (L.D.C. point) you want
to insert on the SEMIAUTOMATIC page.

If this procedure is activated, any step change will be made at the end of a bend, the cycle will remain on
the current bend to allow the operator to execute the self-learning of the desired height of the end of the
bend (L.D.C. point).

- A50 -



In order to find the correct height of the end of the bend the operator can adopt various methods:

- If the quota to be reached is greater than the quota of the end of the bend calculated, the new quota can
only be searched using the up pedal ;

- If the quota to be reached is lower than the quota of the bend calculated, the operator must enable the Re
- Ascent to TDC with ascent enabling input, and without releasing the down pedal at the quota of the end of
the bend have to press the + or the Start (') button in order to go down by a tenth or a hundredth of
millimetre at a time.

The procedure can be activated from the SEMIAUTOMATIC page like following:

- Press Q

- Press the START (') button to position the back gauges Axes;

- Press the Down pedal for make the bend;

- Search for the point of the desired end of the bend via the procedure described above;
- Press [Y self-teach.];

- Press the up pedal;

- Repeat the procedure for all the bends of the program; in order to move between the various bends use
the ﬁ and » button.

Once the self-teaching has been completed for all the bends:

- Press (') and execute the program from the first bend.

- A51 -



Annex 2
Technical data

List of parts
Left piston group
Right piston group
Hydraulic group
Electric box
Control panel box
Electric maps

Hydraulic map



1. List of parts

45.1
56

115 108

o
4?1 2

17

82
L
158

/

110 #

i/JI
m
‘
145
145

102
1

-

153

- 45.10
i/ 4501
149
)
i
128

45.05
45.03
. ||i :
149

AN
T
»

45.08

107
45 Oi
Y
- .
4L
45.04 ’g 4507
)

45.06
45.02

133

- A2 -



PRESS BRAKE MP1500CNC - TECHNICAL DATA

Elemento Miniatura N2 de pieza Descripcion CTDAD
1 130-05-09-00031 CONJUNTO ESTRUCTURA MP1500CNC 1
2 130-05-09-00042 CONJUNTO TRANCHA MP1500CNC 1
3 % 020-D6921-M10X20 TORNILLO HEXAGONAL DIN 6921 M10x20 6
4 140-05-01-00116 PUNZON PS135.85.R08 835mm 1
5 140-05-01-00053 Alza Matriz Plegadora C1050/R a 1050mm 1
6 140-05-01-00117 MATRIZ M460R 835mm 1
7 “ 130-05-09-00032 CONJUNTO PISTON IZQUIERDO PLEGADORA MP1500CNC 1
8 m 020-D71412-00002 Engrasador DIN 71412 M8X1.25 Recto 2
9 \ 122-PLC-0000-001 Placa Caracteristicas General 1
10 cmm) 020-D931-M24X90 Tornillo Hex. Media Rosca DIN931 M24X90 8
11 * 130-05-09-00051 Conjunto Tope MP1500CNC + Servomotores + Cubiertas 1
12 020-D7985-M4X12 TORNILLO DIN 7985 M4X12 PHILIPS 4
13 030-D6325-00013 Pasador Cilindrico DIN 6325 D30X90 8
14 120-05-09-00173 TAPA TRASERA VARIADOR DE FRECUENCIA 1
15 020-D7991-M5X16 Tornillo Allen Avellandado DIN7991 M5X16 6

- A3 -




Elemento Miniatura N2 de pieza Descripcion CTDAD

050-TAPVENT-00001 TAPA VENTILADOR 1

17 ‘ VARIADOR DE FRECUENCIA REF. VFDO55E43A 1

20 0 040-JMG-00004 Junta Metal Goma 3/8' Gas 1

21 O 040-JMG-00005 Junta Metal Goma 1 1/4' Gas 2

24 . 040-RMM-00008 Racor 1 1/4" Macho Macho 2

25 ' 130-05-06-00240 CONJUNTO GUIA DERECHA SOPORTE CHAPAS MP3003CNC 1

26 120-05-08-00171 GUIA SUPERIOR DERECHA SOPORTE CHAPA 1

27 1 130-05-06-00264 CONJUNTO DESLIZANTE SOPORTE CHAPAS MP3003CNC 2
T' 120-05-06-00423 ARANDELA VERTICAL 2
29 031-MAG-00006 EMPUNADURA GRADUABLE M16X50 2

30 |’imm| 020-D6912-M8X20 Tormillo Allen Cabeza Reducida Din6912 M8X20 8.8 Pavonado 2

31 E 030-D7979D-00001 PASADOR CILINDRICO DIN 7979D D8X16 4

32 120-05-06-00452 TOPE POSICION BRAZOS PORTA CHAPA 2

33 031-POMM-00010 Pomo Macho Lobulos @50 - M10x40 2

34 030-PL-00001 PATIN LINEAL 2

- M-




PRESS BRAKE MP1500CNC - TECHNICAL DATA

Elemento Miniatura N2 de pieza Descripcion CTDAD
020-D912-M8X40 TORNILLO ALLEN DIN 912 M8X40 8
030-CJ-00015 Rodamiento De Bolas 6301 D12XD37X12 2
020-D933-M12X35 Tornillo Hexagonal DIN 933 M12x35 2
120-05-06-00424 ARANDELA COJINETE 2
120-05-06-00421 TUERCA FIJACION COJINETE 2
020-D913-M6X20 ESPARRAGO ALLEN DIN 913 M6X20 8
41 120-05-09-00014 GUIA PATIN MP1500CNC 1
42 120-05-06-00426 TOPE FINAL GUIA SOPORTE CHAPAS 2
43 130-05-06-00239 CONJUNTO GUIA IZQUIERDA SOPORTE CHAPAS MP3003CNC 1
44 120-05-08-00168 GUIA SUPERIOR IZQUIERDA SOPORTE CHAPA 1
45.01 120-05-08-00041 BANDEJA MESA CONTROL 1
45.02 120-05-08-00121 PLACA ELEVACION BASE CONTROL 1
45.03 m} 020-17380-M4X6 TORNILLO ISO 7380 M4X6 3
45.04 040-JT-00028 JUNTA TORICA $100X2.5 70 Shore 1
45.05 130-05-08-00066 CONJUNTO CONTROL CNC 1

- A5 -




Elemento Miniatura N2 de pieza Descripcion CTDAD
45.06 020-D912-M6X25 Tornillo Allen DIN912 M6X25 2
45.07 020-D985-M6 Tuerca Autoblocante DIN 985 M6 4
45.08 130-05-08-00071 BRAZO CONTROL MP1400CNC 1
45.09 020-17380-M6X10 Tornillo Allen Abombado I1SO 7380 M6X10 2
45.10 120-05-06-00015 TOPE GIRO CONTROL 1
45.11 020-D912-M6X35 Tornillo Allen DIN912 M6X35 2
45.12 120-05-08-00247 CASQUILLO GIRO BRAZO CONTROL 1

120-05-08-00241 TAPA BRAZO CONTROL 1

130-05-06-00265 SOPORTE LASER 2

020-D933-M16X90 TORNILLO HEXAGONAL DIN 933 M16X90 4

48 050-LAS-00001 CONJUNTO LASER PLEGADORA 1
49 031-BM-00004 BASE MAGNETICA D32X7 AGUJERO AVELLANADO 5.5-11 2
50 030-ROT-00004 ROTULA GX 20 S 2
51 130-05-09-00007 CONJUNTO GUIA MP1500CNC 2
52 130-05-09-00006 CONJUNTO PASAMANO GUIA MP1500CNC 2

- A6 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

Elemento Miniatura N2 de pieza Descripcion CTDAD
53 120-05-09-00018 PASAMANO GUIA DERECHA MP1500CNC 1
54 020-D934-M16 TUERCA HEXAGONALI DIN934 M16 4
55 020-D912-M10X65 Tornillo Allen DIN 912 M10 X65 4
56 020-D934-M10 Tuerca Hexagonal DIN934 M10 24
57 120-05-09-00020 BIPLAST TRANCHA MP1500CNC 2
58 020-D7991-M6X16 TORNILLO ALLEN DIN 7991 M6X16 16
59 /. W)W) 020-D912-M10X30 Tornillo Allen DIN 912 M10X30 34
60 130-05-09-00036 CONJUNTO PISTON DERECHO PLEGADORA MP1500CNC 1
61 130-05-09-00043 GRUPO HIDRAULICO MP1500CNC 1
62 050-BIS-00001 BISAGRA DE SEGURIDAD 4
63 120-05-09-00142 CHAPA PROTECCION FRONTAL MP1500CNC 1
64 \ 120-05-09-00174 TAPA FRONTAL SUPERIOR MP1500CNC 1
65 050-KIE-0509-002 CONJUNTO ARMARIO ELECTRICO MP1500CNC 1
66 031-SIB-00003 SILENT BLOCK DOBLE #50X30 M10 4
67 031-APM-00001 ASA INOXIDABLE 250X45 M6 2

- A7 -




Elemento Miniatura N2 de pieza Descripcion CTDAD

050-BIS-00002 BISAGRA 4

69 120-05-09-00035 CHAPA SOPORTE GRUPO HIDRAULICO MP1500CNC 1
70 050-ENC-00006 Encoder Lineal GVS200TE0022005M-05-SSC 2
71 120-05-06-00534 CHAPA INDICADORA POSICION LASER DERECHA 1
72 120-05-06-00533 CHAPA INDICADORA POSICION LASER IZQUIERDA 1
73 140-05-01-00058 Alza Matriz Plegadora 455R 1
74 140-05-01-00059 MATRIZ M.460 L=670 mm 1
75 140-05-01-00060 PUNZON PS.135.85.R08 670 1
76 120-05-05-00076 BRIDA PROMECAM 8
77 120-05-08-00070 BRIDA DOBLE REGLAS 8
78 120-05-09-00087 Policarbonato Modelo MP1500CNC 1
79 b 120-05-09-00088 Policarbonato Nargesa MP1500CNC 1
80 S - 120-05-06-00389 BRAZO ACCIONAMIENTO ENCODER MP3003CNC 1
120-05-09-00038 BRAZO ACCIONAMIENTO ENCODER DERECHO MP1500CNC 1

82 130-05-09-00059 CONJUNTO TAPA INSTALACION ELECTRICA 1

- A8 -



PRESS BRAKE MP1500CNC - TECHNICAL DATA

Elemento Miniatura N2 de pieza Descripcion CTDAD
120-05-08-00201 SOPORTE PIE PLEGADORA MP1400 CNC 4
020-D913-M14X30 ESPARRAGO ALLEN DIN 913 M14X30 2
020-D934-M14 TUERCA DIN 934 M14 2
130-05-09-00014 ACCIONAMIENTO ENCODER LINEAL MP1500 CNC 2
020-D933-M10X20 TORNILLO HEXAGONAL DIN 933 M10X20 8
020-D912-M8X20 TORNILLO ALLEN DIN912 M8X20 4
020-D912-M6X16 Tornillo Allen DIN912 M6X16 6
020-D125B-M6 ARANDELA BISELADA DIN125B PARA M6 18
130-05-09-00015 CONJUNTO TAPA SUPERIOR IZQUIERDA MP1500CNC 1
130-05-09-00048 CONJUNTO PUERTA IZQUIERDA MP1500CNC 1
130-05-09-00047 CONJUNTO PUERTA DERECHA MP1500CNC 1
130-05-09-00045 CONJUNTO TAPA INFERIOR BRAZO MP1500CNC 1
103 ] J ]W})}) 020-17380-M6X16 Tornillo Allen Abombado 1ISO7380 M6X16 3
104 140-05-01-00062 ALARGO PUNZON 100 mm 8
105 ; 020-D9021-M6 Arandela Ancha DIN9021 Para M6 6

- A9 -




Elemento Miniatura N2 de pieza Descripcion CTDAD

120-05-09-00127 Tapa passacables lateral MP1500CNC 1
107 020-D6921-M8X20 TORNILLO HEXAGONAL CON BRIDA M8X20 8
108 020-D125B-M10 Arandela Biselada DIN125B Para M10 44
109 120-05-06-00540 Tapa passacables inferior 1
110 020-D913-M8X20 ESPARRAGO ALLEN DIN 913 M8X20 4
111 020-D934-M8 TUERCA HEXAGONALI DIN934 M8 14
112 122-CAL-0505-002 TABLA ESPECIFICACIONES 1
113 122-CAL-0506-004 PLACA ALUMINIO ADVERTENCIAS PLEGADORA 1
114 020-D7337-3X8 Remache De Clavo DIN7337 De Al D3X8 12
115 020-D7991-M3X30-ZN Tornillo Allen DIN 7991 M3X30 Zincado 4
116 020-D912-M10x100 Tornillo Allen DIN 912 M10x100 8
117 020-D933-M10X90 Tornillo Hexagonal DIN 933 M10x90 2
118 050-IND-00003 Detector Inductivo Diell M8 NO PNP-10-30 M12 1
119 020-D931-M14X90 TORNILLO DIN 931 M14X90 4
120 040-JMG-00001 Junta Metal Goma 1/2' Gas 4

- A10 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

Elemento Miniatura N2 de pieza Descripcion CTDAD

040-RMM-00004 Racor 1/2" Macho Macho 4
122 050-GEN-00022 Soporte Perfil Led 8
123 120-05-09-00074 ARANDELA GUIA MP1500CNC D27XD15X8 4
124 G 050-LED-SUPERIOR TIRA LED PLEGADORA MP1500CNC L= 1000 mm 1
125 050-LED-INFERIOR TIRA LED PLEGADORA MP1500CNC L= 1
126 / 120-05-09-00119 MONTANTE DERECHO PUERTAS TRASERAS MP1500CNC 1
127 / 120-05-09-00118 MONTANTE IZQUIERDO PUERTAS TRASERAS MP1500CNC 1
128 “ 020-D125B-M5 ARANDELA DIN 125 B M5 44
129 \ 120-05-09-00163 Dintel de Puertas MP1500CNC 1
130 020-17380-M6X8 Tornillo Allen Abombado 1SO7380 M6X8 2
131 120-05-09-00153 SOPORTE INDUCTIVO TRANCHA 1
132 120-05-09-00152 SOPORTE INDUCTIVO TRANCHA 1
133 031-BM-00003 BASE MAGNETICA (#16X4.5 AGUJERO AVELLANADO 8
134 120-05-09-00167 Separador Iman Puerta Trasera MP1500CNC 4
135 120-05-09-00072 PASAMANO GUIA [ZQUIERDA MP1500CNC 1

- A1l -



Elemento Miniatura N2 de pieza Descripcion CTDAD

120-05-09-00073 POLICARBONATO PUERTAS DELANTERAS MP1500CNC 2

137 130-05-09-00055 Puerta Trasera lzquierda MP1500CNC 1
138 130-05-09-00052 Puerta Trasera Derecha MP1500CNC 1
139 120-05-09-00078 Passacables inferior 1
140 . j/&;[.,‘w) 020-D912-M6X20 TORNILLO ALLEN DIN912 M6X20 20
141 020-D912-M6X60 TORNILLO ALLEN DIN 912 M6X60 2
142 020-D933-M10X25 TORNILLO HEXAGONAL DIN 933 M10X25 24
143 ; Y 020-D912-M10X40 TORNILLO ALLEN DIN 912 M10X40 16
T' 031-TG-00001 TAPON GUIA LINEAL AGUJERO M6 20
145 020-17380-M6X10 Tornillo Allen Abombado ISO 7380 M6X10 57
146 020-D934-M6 Tuerca Hexagonal DIN934 M6 15
147 020-17380-M6X12 Tornillo Allen Abombado 1SO7380 M6X12 12
148 020-D934-M5 Tuerca Hexagonal DIN934 M5 48
149 020-D913-M5X16 ESPARRAGO ALLEN DIN 913 M5X16 44
150 020-D7991-M3x8 TORNILLO ALLEN DIN 7991 M3X8 16

- A12 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

ORIENTADAS 2702

Elemento Miniatura N2 de pieza Descripcion CTDAD
151 020-17380-M8X20 TORNILLO ALLEN ABOMBADO 1SO7380 M8X20 8
152 020-D933-M8X35 TORNILLO HEXAGONAL DIN 933 M8x35 8
153 050-PED-00003 CONJUNTO PEDAL SEGURIDAD 1
154 020-D125B-M24 ARANDELA DIN 125 B M24 8
158 130-05-09-00046 CONJUNTO TAPA SUPERIOR BRAZO MP1500CNC 1
159 040-VLL-00001 Valvula De Llenado HB90638-002B 2
160 040-SAE-00001 SEMIBRIDA SAE 1-1/4 4
161 0 040-JMG-00002 Junta Metal Goma 1/4' Gas 5
162 ' 040-RMM-00002 Racor 1/4" Macho Macho 2

Manguera 1 1/4" 250bar - Brida SAE 3000PSI 1 1/4" Recta con Tdrica -
163 120-05-09-00130 1
Codo 902 TG 1 1/4 BSP- L=1050 mm
Manguera 1 1/4" 250bar - Brida SAE 3000PSI 1 1/4" Recta con Torica -
164 120-05-09-00131 1
Codo 902 TG 1 1/4" BSP - L=1050 mm
MANGUERA HIDRAULICA 1/2"-CODO 909TG 1/2"BSP CONO 602-CODO
166 /\\, 120-05-09-00133 909TG 1/2"BSP CONO 602-250 BARS-L=920 mm-CONEXIONES ORIENTADAS 1
2702
MANGUERA HIDRAULICA 1/2"-CODO 90°TG 1/2" BSP CONO 602-CODO
167 [-\¢ 120-05-09-00134 90°TG 1/2" BSP CONO 602-250 BARS-L=1020mm-CONEXIONES 1
ORIENTADAS 902
MANGUERA HIDRAULICA 1/2"-CODO 90°TG 1/2" BSP CONO 602-CODO
168 BN 120-05-09-00135 909TG 1/2" BSP CONO 602-250 BARS-L=1380 mm-CONEXIONES 1
ORIENTADAS 902
MANGUERA HIDRAULICA 1/2"-CODO 909TG 1/2"BSP CONO 602-CODO
169 > 120-05-09-00136 90°TG 1/2"BSP CONO 602-250 BARS-L=1520mm-CONEXIONES 1

- A13 -




Elemento Miniatura N2 de pieza Descripcion CTDAD
120-05-09-00150 ALARGO REDUCTOR 3/8-1/4 1
172 040-TESD-00002 TORNILLO ESFERA DOBLE 1/4" 1
MANGUERA HIDRAULICA 1/4 "-CODO 902 TG 1/4 " BSP CONO 602-
173 /\ 120-05-09-00137 CONEXION ESFERICA 1/4 "-250 BARS- L= 960 mm-CONEXIONES 1
ORIENTADAS 02
MANGUERA HIDRAULICA 1/4"-CODO 902 TG 1/4" BSP CONO 602-
174 X 120-05-09-00138 CONEXION ESFERICA 1/4"-250 BARS- L= 1380 mm CONEXIONES 1
ORIENTADAS 02
175 % 020-D913-M10X35 ESPIGA ALLEN DIN 913 M10X35 8
176 h 120-05-09-00168 Arandela M10 Trancha 4
177 120-05-09-00154 Arandela inductivo 1
178 m 020-D913-M8X40 ESPARRAGO ALLEN DIN 913 M8X40 1
179 I 130-05-06-00276 Conjunto Laser MP3003 1
180 ! 050-IND-00004 Detector Inductivo Diell M8 NC PNP-10-30 M12 1

- Al4 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

2. Left piston grou

020

2020

L0'£0

- Al1S -



Elemento Miniatura N2 de pieza Descripcion CTDAD
07.01 130-05-09-00033 CONJUNTO CAMISA CILINDRO IZQUIERDO PLEGADORA MP1500CNC 1
07.02 120-05-09-00108 Vastago Cilindro D95xD100 MP1500CNC 1
07.03 120-05-09-00112 Empaquetadura Cilindro D95XD100 MP1500CNC 1
07.04 120-05-09-00114 Tuerca Trasera Cilindro MP1500CNC 1
07.05 120-05-09-00110 SEPARADOR CILINDRO MP1500CNC 1
07.06 120-05-09-00109 Dolla De Bronce Cilindro D95XD100 MP1500CNC 1
07.07 040-RAS-00011 RASCADOR D95XD105D7/10 1
07.08 040-BA-00018 COLLARIN D95XD115X12 1
07.09 040-JT-00035 JUNTA TORICA D115X5 90 Shore 1
07.10 040-JT-00027 JUNTA TORICA D52X4 90 Shore 1
07.11 040-DPS-00001 DPS @#100X@86X16X32 1
07.12 m 020-D914-M8X12 Esparrago Allen Con Punta DIN914 M8X12 1

- A16 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

3. Right piston group

L0°09

6009

G009

2009

1009

- Al7 -



Elemento Miniatura N2 de pieza Descripcion CTDAD
60.01 130-05-09-00037 CAMISA CILINDRO DERECHO PLEGADORA MP1500CNC 1
60.02 120-05-09-00108 Vastago Cilindro D95xD100 MP1500CNC 1
60.03 120-05-09-00112 Empagquetadura Cilindro D95XD100 MP1500CNC 1
60.04 120-05-09-00114 Tuerca Trasera Cilindro MP1500CNC 1
60.05 120-05-09-00110 SEPARADOR CILINDRO MP1500CNC 1
60.06 120-05-09-00109 Dolla De Bronce Cilindro D95XD100 MP1500CNC 1
60.07 X 040-RAS-00011 RASCADOR D95XD105D7/10 1
60.08 040-BA-00018 COLLARIN D95XD115X12 1
60.09 040-JT-00035 JUNTA TORICA D115X5 90 Shore 1
60.10 040-JT-00027 JUNTA TORICA D52X4 90 Shore 1
60.11 040-DPS-00001 DPS @100X@86X16X32 1
60.12 m 020-D914-M8X12 Esparrago Allen Con Punta DIN914 M8X12 1

- A18 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

4. Hydraulic group

61.42 61.41 61.25

.

4104 6124

- A19 -



Elemento Miniatura N2 de pieza Descripcion CTDAD

040-CA-00001 Campana Acoplamiento Bomba Tipo L Motor 7.5/10/12 1

61.02 040-BH-00007 Bomba Hidraulica De Aluminio De 12 L 1
61.03 040-AE-00002 Acoplamiento Lado Motor 7.5/10/12 Cv 1
040-AE-00003 Acoplamiento Lado Bomba Tipo L 7.5/10/12 Cv 1

61.05 040-AE-00004 Estrella Acoplamiento 7.5/10/12 Cv 1
?' 050-ME-00010 Motor Electrico de 5.5 Kw A 1400 rpm Brida B5S 1
61.07 020-D912-M8X30 Tornillo Allen DIN 912 M8X30 4
61.08 130-05-09-00008 Deposito Hidraulico MP1500CNC 1
61.09 040-JMG-00001 Junta Metal Goma 1/2' Gas 6
61.10 040-JMG-00004 Junta Metal Goma 3/8' Gas 4
61.11 040-FL-00003 Filtro De Aspiracion 1' 1
61.12 040-RRMM-00009 Racor Reducido 1'-1/2' Macho Macho 1

|

61.13 020-D912-M10X20 Tornillo Allen DIN912 M10X20 4
61.14 “ 020-D125B-M10 Arandela Biselada DIN125B Para M10 4
61.15 020-D933-M10X45 Tornillo Hexagonal DIN933 M10X45 4

- A20 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

Elemento Miniatura N2 de pieza Descripcion CTDAD
61.16 040-TLL-00001 Tapon De Llenado 1" Con Filtro 1
61.17 040-TVA-00001 Tapon Allen 1/2' 1
61.18 040-PST-00002 Pasatabique 3/8' 1
61.19 040-RMM-00003 Racor 3/8" Macho Macho 2
61.20 040-NA-00001 Visor Nivel Aceite De 3/8" Gas 1
61.21 040-FL-00001 Filtro De Aspiracion 1 1/4' 2
61.22 040-JMG-00005 Junta Metal Goma 1 1/4' Gas 2
61.23 040-RMM-00008 Racor 1 1/4" Macho Macho 2
61.24 120-05-09-00080 Chapa Soporte Manometros MP1500CNC 1
61.25 040-MAN-00002 Manometro 0-300 Bars D63 Empotrable Toma 1/4' Trasera 2
61.26 040-FIM-00001 Fijacion Trasera Manometro Empotrar D63 2
61.27 130-05-09-00044 Conjunto Tapa Grupo Hidraulico MP1500CNC 1
61.28 020-D6921-M6X12 Tornillo Hexagonal Embridado M6X12 14
61.29 120-05-09-00086 "Manguera 3/8"" Salida Bomba MP1500CNC" TG 3/8-TG 3/8 L=300 mm 1
61.30 _k\ l 120-05-09-00099 Aceite MP1500CNC 60 L 1

- A21 -




Elemento Miniatura N2 de pieza Descripcion CTDAD
61.31 020-D912-M8X110-12.9 Tornillo Allen DIN912 M8X110 Calidad 12.9 2
61.32 040-BL-00016 Bloque central HB545228-002C 1
61.33 040-TM-00001 Toma Minimex 1/4" 3
61.34 040-JMG-00002 Junta Metal Goma 1/4' Gas 3
61.35 040-RMM-00004 Racor 1/2" Macho Macho 4
61.36 . 040-RRMM-00004 Racor Reducido 1/2-3/8 Macho Macho 1

m 120-05-09-00132 Manguera 3/8 " Entrada Grupo Codo 902 3/8-TG 3/8 =425 mm 1
61.38 O 120-05-04-00150 Tubo De Retorno 3/4"" 2
61.39 O 120-05-04-00130 Tubo Retorno 1/2" 1
61.40 O 120-05-09-00151 Tubo Retorno 3/8" 1
61.41 120-05-09-00139 Tubo Minimex Manometro 1/4" - Tuerca M16x200 L=600 mm 1
61.42 120-05-09-00140 Tubo Minimex Manometro 1/4" - Tuerca M16x200 L=600 mm 1

- A22 -




5. Electric box

PRESS BRAKE MP1500CNC - TECHNICAL DATA

SLOTTED TRUNKING UNEX 40x60

115
116

G1R S T G2RISI T1GY

09X07 X3NN ONDMINNYL A3LLOTS

12 3 .04 45 46 1 18 09 #mpm

GIR S TG2RISITH

T
118

DIN
L=468mm

SLOTTED TRUNKING UNEX 40x60
L=470mm

HBI0 WOM2 X0X2Xé
Ho 11 MIMS X1X3X5

MG X135
M2 X032 X4

SLOTTED TRUNKING UNEX 40x60
L=470mm

=1

wwoBp:

O O O JO &6 e

o O O e

09X0% XaNN ONDINNYL 3L1O0TS

DIN
L=210mm

DIN
L=210mm

SLOTTED TRUNKING UNEX 40x60
L=210mm

SLOTTED TRUNKING UNEX 40x60
L=210mm

o@F

1] © =
© 0 0/0 0000 ¢
DIN
L=210mm
SLOTTED TRUNKING UNEX 40x60
L=210mm
N
DIN
"~ L=210mm
- pa—— 1
—r = =_F
- <o
m
o
= =

L=550mm

PLACE THE LABELS ON THE TOP OF THE TERMINALS AND FUSES

PLACE THE TERMINALS AND FUSES WITH THE OPEN SIDE TO THE LEFT.
— —
M M
@ @
] 2
3 3
3 3

09X0y X3NN ONIMNNYHL A31101S

SLOTTED TRUNKING UNEX 40x60
L=550mm

- A23 -




SLOTTED TRUNKING UNEX 40x60

L=550mm

PLACE THE LABELS ON THE TOP OF THE TERMINALS AND FUSES
PLACE THE TERMINALS AND FUSES WITH THE OPEN SIDE TO THE LEFT.

=1

wwoss:

09X07 X3INN ONDMINNYL d3LLOTS

0

115
116

G1R S T G2R1SITIGH

12 73 4 15 6 1 00 P n

0

GIR S T GRISITI

DIN
L=468mm

SLOTTED TRUNKING UNEX 40x60
L=470mm

159
160

g it

A8B0B2 HO HBI0 MOM2 X0X2X4 17
a1 £98183 H1 Ho 11 MIM3 X1)XG3XS C.] 118
- f—) — [
1
a1 A3B183 H1 HO T MING X1 X335 118
288062 HO HB 10 MOM2 X0X2X4 "

50
159

DIN
L=468mm

SLOTTED TRUNKING UNEX 40x60
L=470mm

=1

wwos:

D O O O o o

o O O O o o

09X0F XINN ONDINNYL 31LOTS

L=210mm

L=210mm

SLOTTED TRUNKING UNEX 40x60

SLOTTED TRUNKING UNEX 40x60

L=210mm L=210mm
O e o s O
©00/00/00
o o H
A=l
©00/060/00
= & &&= DIN
L=210mm
SLOTTED TRUNKING UNEX 40x60
L=210mm
M
DIN
L=210mm

T

=1

wwoss:

09X0F X3INN ONDINNYL A3.LLOT1S

SLOTTED TRUNKING UNEX 40x60

L=550mm

- A24 -




6. Control panel box

PRESS BRAKE MP1500CNC - TECHNICAL DATA

=1

wwiogt:

09X0€ X3ANN ONIMNNYL A3LLOTS

©)

INSIDE VIEW OF THE FRONT BOX

NUMERIC CONTROL
ESA S630

o i} } 0-12V END SCALE SELECTION

FOR ANALOG INPUTS 3 AND 4

ATTENTION: THE SHADED RECTANGLE
REPRESENTS THE DIP SWITCH POSITION

} 0-12V SELECTION FOR ANALOG INPUTS 3 AND 4

EMERGENCY
STOP

e

B
B

1"
12

@21
2|22
@

GENERAL
LOCK KEY

ON LAMP ERROR LAMP

(GREEN) (RED)
-2

VOLTAGE LAMP
(WHITE)

SLOTTED TRUNKING UNEX 30x60

L=340mm

UsB
CONNECTOR

usB

CONNECTOR
RESTART BUTTON +

LIGHT (BLUE)

SPEED BUTTON +
LIGHT (ORANGE)

=1

w6t

09X0€ X3ANN ONIMNNYL A3LLOTS

- A25 -




PLATE HOLE NUMBER

PLASTIC CABLE GLAND

ELECTRIC WIRE

DESCRIPTION

1 M25 -MG31 VF1 FREQUENCY INVERTER POWER INPUT
2 PMA DN12 M20 -MG6 CORRUGATED HOSE WITH RX (DSP LASER RECEIVER)
3 PG9 -MG18 L5 (BEND AREA LAMP)

4 M32 -MG5 MESH WITH SIGNAL WIRES

5 PG9 -MG16 EVS2 (Y2 SECURITY ELECTROVALVE)

6 PG9 -MG15 EVS1 (Y1 SECURITY ELECTROVALVE)

7 PG9 -MG14 EVF (FALL ELECTROVALVE)

8 PG9 -MG17 EVU1 (Y1 UP ELECTROVALVE)

9 PG9 -MG35 EVD2 (Y2 DOWN ELECTROVALVE)

10 - -MG22 + -MG21 | CAN BUS CABLE + ETHERNET EXTENSION CABLE
11 PG9 -MG11 SF9 (RIGHT SIDE HINGE)

12 PG9 -MG12 SF10 (LEFT SIDE HINGE)

13 PG9 -MG43 TX (DSP LASER TRANSMITTER)

14 PG9 -MG38 CONTROL1 ANALOG IN

15 PG9 -MG30 SF11 (BACK RIGHT SIDE HINGE)

16 PG9 -MG8 IS1 (Y1 SECURITY VALVE INDUCTIVE)

17 PG9 -MG36 Y1 SPOOLER

18 PG9 -MG26 EVP (PROPORTIONAL PRESSURE VALVE)
19 PG9 -MG33 EVD1 (Y1 DOWN ELECTROVALVE)

20 PG9 — —

21 PG9 - -

22 PG9 -MG23 IE1 (ENCODER INDUCTIVE 1)

23 PG9 -MG28 VSA (DSP LASER TEST INDUCTIVE)

24 PG9 -MG13 PUMP CONTROL

25 PG9 -MG29 VF1 OUTPUT FAIL RELAY ACTIVATION

26 PG9 -MG32 SF12 (BACK LEFT SIDE HINGE)

27 PG9 -MG7 IF (FALL VALVE INDUCTIVE)

28 PG9 -MG9 IS2 (Y2 SECURITY VALVE INDUCTIVE)

29 PG9 -MG37 Y2 SPOOLER

30 PG9 -MG34 EVU2 (Y2 UP ELECTROVALVE)

METALLIC BOX REAR SIDE

METALLIC BOX VENTILATION SIDE

THREAD TO M6
THREAD TO M6

(©)

METALLIC BOX HINGES SIDE

METALLIC BOX FRONT SIDE

- A26 -



PRESS BRAKE MP1500CNC - TECHNICAL DATA

32 35

METALLIC BOX HINGES SIDE

METALLIC BOX BACK

NUMBER PLASTIC CABLE GLAND ELECTRIC WIRE DESCRIPTION
31 PG9
32 M25 “MG1 POWER SUPPLY
33 M20 RACORD -MG10 PEDAL
34 PG13.5 -MG24 + -MG25 ITX (X AXIS, BACK GAUGE INDUCTIVE) +
ITR (R AXIS, BACK GAUGE INDUCTIVE)
35 M25 -MG3 BACK GAUGE MOTOR / DRIVER HOSE

- A27 -



7. Electric maps

1300 YSN NON ¥04 ATINO

r—-——=->"==7===7=77—7= Ll
| pessssssonuenes 3 ! ~€ IW-
RV Pasve- | (e 1 s w3 no 3 e JIN WL
1 ! |
e i i I =
| - = - | 1)
] |
LS Ly ©
Lo | = e < »ongze 3 L L on | e
- < o Lo Tow oo oon- T oow-
[l I 0A0
C |C og Lov
Sl sS o ~ A A L
¢" "\ Vi :
- 14-
- YILYIANI ADNINOIUAL ¢ LA ﬂmm M A n —Nu“,_\w|
3SVv4d JISYHAONOMW : Lasve
HIAINA SHOLOW 39NVO YOV : Lad
7 | YOLOW IDNVO HIVE ‘SIXV ¥ : EN
OLOW 39NV WOVE ‘SIXV X : ZW IND
YOLOW diNNd : LIN f id 1 S 4 ¥ [4A-
2 2 |2 e
n| s m[ |
== veon-"" 1w reow-"T 1eam-
|||||| M ~l o 1u lis L
. ot 0 oo
R 2 |
z |z Je . u | |w
9 9
4l %S L]
b o8 T
f.f-.ﬁf Tvid- ---.—f £vid- f--.f:.f Wid-
) [t
IS
W
4 1 ds lu
N = = — N " ” % IND
(o) N2 (gmws  Wwa Tl aNgWva daovouny  awe An E 20 )W c e |=
_ % X o = 1S-
NOISN3LX3 WND | T | avo W [ Az | Az | 3 L' C=—~==7  /iw
0H- Teow  Teow Tew 1 eon- T w7 eon- 7 eon- | I
Thg-——1 1o 1
5 IND = — = YN - % » L) END e +
a- )N (W Twa e g € R AT A= W, .5
| e/ d

1300 VSN ¥04 AINO

- A28 -



FTNAON TV YISV dSA NIV
va3d NVIN avaa : sdS
Iva3ad NMoa : v4s

NOLLNG LYVLISIY : €4S

PRESS BRAKE MP1500CNC - TECHNICAL DATA

dOLlS ADNIDYINI LNOYd : 2dS
dOLS ADN3IDYINI Tva3d ¢ L4S

4 Au_go
< < <
NOIS NMOG WNDIS ¥3MEvE 335 JaA%Z*
6 W Ly
M
T uow
b
2 N N
N7 [,
INRES o s T, st
el al ol
T oow- T oow- T oow- i
]
e s e ot s w Lo Lev
24 124 k14 Ll U 0
6
mwmm_a_nﬂu mmmmu_n_%n P2 g |8 |8 B I® = = |5
b
i €03S- 8¢ ¢H3s- 3 1D3S-
_, €45-
w
07
g 4 g 2 _w.. _H = = g g H 2 w ] _n.. = g 4] H 2 w = = =
0 8l 8 L S
19 €9 th Lo SH 3 € H M
0 0 ] 0 0 ] (] 0 0
wl (Y s|
T oow- T oow- T oow-
o a Sl I 4 ) s
9 ) l
N /L
< 1S T, sdS- s L s
& > =3 =
9
T uow-
mm«.-ﬁ 9 € z ! J €€ v
6l 9
<l

JaAnz+

- A29 -



<
3aA0
f <
JaAvze
¥
64-
0x
. . 4 ~
i 0 s lax SLNANI JOA9Z*
g 1l 8L u oo 1o
0 WIALYIANI AONINOIUA © LA
N mal ol we aa L w JAILLONANI SATYA ALINNDIS ZA ¢ ZSI
2\\3:.= - A~ - \\E:. \\E_.H - IAILONANI SATVA ALIMNOIS LA ¢ LSI
IAILLONANI BATYA TTV4 ¢ I
2 2 2 2 2 2 I IAILONANI ¥IAOINS ¢ 13l
A A A ) JONIH 30IS 1437 : 0L4S
! ! JONIH 30IS LHOM : 64
— — x ¥ - + A3X 9071 TVNIANID : 84S
- - - NOLLNG Q33ds : L4S
@i o[ @os \Jis | o NG o
" o i ¥ 1vaad NVIN avaa : S4S
NOLLNG LYVLS3Y : €4S
i ,E\ E\ fm\ 70YLNOD DIMIWNN VS : | TOULNOD
@ @ @ @
= = = =
] o o o
6OH- 1 sou- T 1ow- 1 ezon-
<]
YNDIS NMOG
<]
HE YNOIS ¥aEVE
%€ 3 9 H_umm %S ™
| [m]
HM ¥ HM € €
= L L~ - L~
Tauow- Tuow T uow- T oow- T oow- e o
~ - ~ 5 = & # R
ng Ng
LY LN AR £33 N N7 4 \ 3 620H- 62oH-
- 014S-|w 64S- |- 64S- = 84S- |@ L4S- |@ 94S- @ 6dS- o g45-
Ml om| m[ €L w) o N3
T T T T g 1 wow- VA=
w I3 8 9 9% 08 9L €s Ls 89
335 J0A9Z+
L sz € 1 6l n 5 M 6 L s € L
0 (] 0
l LE 9€ 119 Y€ €€ [43 1€ 0E 6l k14 8l L 9 114 b
9 1 a P u o 6 8 L 9 s 4 € LNLKW

1104LNOJ-

- A30 -



PRESS BRAKE MP1500CNC - TECHNICAL DATA

dA3- = <l
1 33s JaA9Z*
b
18
ATVA JUNSSTUC TYNOLLYODONd : dAT
dINV1 3OVLIOA : 91 P
3ALLONANI LSIL ¥ASV1 dSA VSA " (3] z
Z AILONANI ¥3A0IN3 : Z3I - 0 0
3AILONANI 39NVO WOVE ‘SIXV ¥ : ULl a na
IALLONANI IDNVYD WIVE ‘SIXV X : XLI \\ﬁi. \\zu:. =
JONIH 3aIS L1431 )OVE : ZLdS
JONIH 3aIS LHO WOV : LLdS 16 56 %
39NIH 3aIS L1437 : 0L4S
TOULNOD JIFMINNN VS3 ¢ LTOULNOD €6 16 _H_o HM ® 9
>
d0ud JaA%Z+ S
L9 99 5]
Y3IAIYA TYNOILYOd0Yd _ . JAAYT
(s 8 . £ : L) Hoingd: C 2 i1041N0I-
7 <J
30A0
07 Am_:az. JOA9Z*
28 IX
g <] r—
_n_H Hﬁ Janz € Janz
ot L6 o 661 91 se oo 19 %6 106 99 Log
0™ o 0 0 0 0" o 0 SH
I e
:m\\ zn\\ xm\\ :)\\ xn\\ :3\\ :n\\ zm\\ :c\\ zn\\ :u\\ (] 3
_ 190u"| 190w- _ 1M T60H- 06OH- 0EON- 294" szom- o] szon- wron| -
_ _ [
2 (2 2 |2 2 |2 2 2 T wow-
_ [~ \*J _ [~ [~ [~ -3 [~ J
23 AV& _r Ni., Nu., ‘mu., Ni., VSA- AV& L ull- AVS A X1 AV& A Nu., 0L4S-
| HE _ w U4S- (= 24S- |w 4SS |- WdS- am .F H} w
_ *G3LNNOW LON SI 11 - _ ' = Y=
3YO04IYIAHL "ANVSSIDIAN LON = = = =
_ s1 (z IAILONANI ¥3AOON3) Zar- ] _ na| N | ng N HM HM WA | n|
* NOLLN3LLY 190K- Moo Treow  Toem- T oeow- SI0W- STON- T oeow- T uow-
L _ _ _ T _ 1
=
300
13 g€l Ler €l €€l 86 6 2] 9€
5% L e AT 1l 66 8 0z 62
[4 A €Y Al 88 L8 69 99 4] 6€
ﬂ I 9l o 9 €l u u o 6 8 L 9 5 9 3 14 R AN

17041NOD-

- A31 -



4 300
1] W
1 "l !
L 3 6L st L G
@ne | ene | @ne |
N ng T oow- 1 siom- 1 now-
0N aoN-
I i<
&N ~_] € -] lo-
Wia UW ) LdA- > ISA3- = dA3-
UILYIANI ADNINOIYA ¢ LAA
3IATVAOYULOITI ALIMNDIS ZA : ZSAT bna | L
3IATVACYULOITE ALINNDIS LA ¢ LSAT 9UON- NDH-
ATYAONLO3TA 11V4 & dA3
TOMLNOD JIMIAWNN VS : LTOULNOD (ke 59
€S 1S 0 6%
“_ L3 _H_ S4- _H_ Y4- _H_ €4-
il 335 JaANZ*
" a 8% 9% oY hki
ﬂ 0z 6l 8l I 9l 5l 9 € u m o 6 L s 9 € [4 ! W._.r@mzﬁu-

- A32 -



PRESS BRAKE MP1500CNC - TECHNICAL DATA

934

A

IX

€934

9

8

JaAo

[ASEL]

4

T snod-

IAS

IX

& 8Nod-

I

1934

€9

INV3- va INV4-

JaA9z+ dsa <

NV X08 TVvIRIL1I373 : ZNVd
NVi XO8€ TOYLNOD ¥3SN : LNV

¥32ZNg AYOWIW 40 aN3 *
161
dINV1NO *
1g1
dINYV1 ¥OH¥3
dINV1 @33ds *

dINV1 V3NV aN39

dINVT L¥VYLS3Y

1z

14l

(4|
11

TTOYLNOD JININNN VS : LTOULNOD

WSWd dS0 <

ad 4S04 <

VSA dsa <

AV dS0 <}

1 300W dSQ <}——

\

: X X X
W4 : 0Ld-
2 300 dS0 <}— & s 5 18 €1 5 0@ 11
~ B x N % N x
<] JaA%z+ zumwv - Dm® -
3 \Z- X n| x x
_H_: IX “ BIDK-
s01 oL 601 801 90 Lol 58
~
: 94- 95 L5 143 05 1] 94 " 9
19 9L SL L €L i 1A oL 09 6 8 LS 9 S
(o o o n 9 o o o P W o 6 8 L S Y P Py A

LT0Y1INOD-

- A33 -



CaA3-

<]
z J0A0
INA3- - — —
J08d J0AYTZ*
=
I
=
| m|l m[ ne]
Toeow  Toew  Toreow 7 reom-
16 6 w s
HE HE Hz_ Hﬁ_
96 S6 %6 €6 l 4]
[23
(o s ! £ 4 ' ]17041N0d-
SISSVHO TOM.LNOD JIMIWNN IND
3HL OL GT3IHS FHL LOINNOD
N | wm |
~ ~
0w
% . Lzon-" 1z
SN)

(v wov Yiw

LNOA X 2
(+ ¢ = _J:oEzS-

UOSNIS YIT00dS ZA : ¥3700dS CA
UOSNIS ¥IT00dS LA : ¥3700dS LA
UYILYIANI ADNINOIYUAL ¢ LAA
TOYLNOD JI¥INNN VS : | TOUYLNOD

LAA3-

— g

z J0A0
INA3- ¥ — —
d0yd JaA%Z*
=
I
=
v nel vl ne|
Teeow Teem Tuow T uow
{241 ¥4 (11} L
H.&— H w H (14 H 8l
6 16 06 68 14 W
LA
(o s v £ 4 ') Houinod-
= NI 90TVNY
e s » ¢ ¢ v JNENY
v SISSYHI TOYLNOD JIMINNN IND
3HL Ol @T3IHS FHL1 LJ3NNOD
L] Y Ly
“Teon-~T econ- “Toeon-
3 <J
Jannze
[4 Au_oz
09t 5
651 8sl LSt aSL 91 €SL
] m] m] m]
na [ wm[ | na | wm[ wN|
1 eeou- ] reon- " reow- T oeom-""T oom- " geom-
(2 € z v \uIoodsza- (7 €z L ) ¥3I00dSLA-

- A34 -



PRESS BRAKE MP1500CNC - TECHNICAL DATA

YIAINA SYOLOW IONVYO MIVE FHL 40 NVD snd IHL OL

JIVW 680
Le 8 ¢ 9 ¢ + ¢ z i

X049 TVIIRILI3TI FHL 40 YOLI3INNOD NVT13IHLI OL

VW Sy
Le ¢ 9 s o+ ¢ = v Jonoo-

= == == 3=

NEM ng | ngm

!

oo | oom [ N[ wom| wa| wnem [ na| nem
L~ ~ - ~ L~ L~ L~ ~ ~ - L~
1 aw- T wow zom- T veowT veowT veow=T vzom="T vaow-"T vaow="T vaow="T 1eom-
JIVW 680 JIVW Sry
ﬁ 6 8 L 9 s € z L) NeS- ﬂ 8 L 9 R € z L) N0)-
104.LNOD JINIWNN 0£9S VST FHL 40 NVD SN FHL OL 70U.LNOD JIMIWNN 0£9S VST THL 40 HOLIANNOD NV JHL OL

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ) f—————r—er—r—rrrrrrrrrrrrr e

379vI SNA NVD 379V NOISNILX3 LINJIH13I

- A35 -




9\ _rr 24300IN3-

ﬁull- |||||||||||||||| ulltu SISSVHO 694 H104 IR D P L __
Fe—qe————————f—————— F——71' ola13IHS LI3NNOD q D SISSVHO 64d IHL

OL @T3IHS L33INNOD

M| | o) n| o Y ) o oo
“T1 o904 ovom- T ovon- T ovowT ovow- 1 eeowT seou- 1 seon- 1 seam=T seon-
(6 8 s s 1 & z 1 )yNued (6 8 L 9 s 1 € 1 1 )3waeac
70ULNOD JIINNN 0£9S VST FHL 40 HOLIANNOD ZINI FHL OL Z 379VD NOISNILX3 ¥3A0ONT IHL OL
|||||||||||||||||||||||||||||||||||||||||| . e s e e e e e e e s s i
Z 318V NOISNILX3 ¥Id0INI Z ¥3d0ON3 ¥VANIT
|||||||||||||||||||||||||||||||||||||||||| o e
| |
| ¥3AOONI HYIANIT IHL OL “ "
J1VKW34 690
Le 8 ¢ 9 s o ¢ z 1 Jgnoy | " = |8
| | L
i _ [ 300N ¥V INIT
| I 0 _.r L4300IN3-
! _ ~—1
I I =
| | > a
| I
| I
| I
q ) sissvHo 6aa Hiog “ T I S S L
Fm—f————————— g ————— Fr——7T OLQT3IHS LJ3NNOD | I ﬁ U SISSVHO 680 IHL
| N ESUE DA S I 0L aT3IHS L93NNOD
I I
" “
Y BRLY o wl om| _ | [y P o i |
1 oz ozom- 1 ozow- “1 ozow=T ozom- | I “1 aow"T aiow- 1 o 1 aon"T siow-
I I
I I

- A36 -




PRESS BRAKE MP1500CNC - TECHNICAL DATA

HIAITITY YISV dSA XA
HIALLINSNYYL ¥3SV1dSA X1
FTINAON TV ¥3ISVT 4SA :NTV

la uw o 8 L 9 s voe oz JH.
9 SiL h 1A 118 _
[] [] [] 0
w Lo e Lz Lo o owl vl | 9
] (] 01 0 | oo ~Terow = Teron- ~Teron-
8 €8 L €L I i 9L SL %8 58 98 08 6L 8L LL (
L8 unou o L9 s e ¢z ) (1 ¢ v \xi-

- A37 -



8. Hydraulic map

Tu. | B
w0 _ _.o
5 _ ZN-0 |LIA O,
g‘ | [FANIN ) LINY-0) ﬁ
3 | 0LZ8N0. | | ouano.-| oo
zzx-0 | WL iy [T} iy ZLX-0
| |Lpasy | remo0 [1enydo dTiwoo  [LAY0
f 3
19" - 0
z
=
5t -_ 7 4_ )
LAD"L |

Wi — 7

2y —

- A38 -




OUR RANGE OF MACHINERY

\-|-

SECTION BENDING NON-MANDREL
MACHINES PIPE BENDER

TWISTING/SCROLL HYDRAULIC PRESS
BENDING MACHINES BRAKES

IRON EMBOSSING

GAS FORGES MACHINES

BROACHING

MACHINES POWER HAMMERS

IRON WORKERS

HORIZONTAL PRESS
BRAKE

HYDRAULIC SHEAR
MACHINES

END WROUGHT IRON
MACHINES

L

PRESSES FOR LOCKS






